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UNIT - I (PROSE)

Answer the following in a Word/Phrase/Sentence each: (5x1=5)

How did William Harvey see the heart as a pump?

Where do the Franks stay while they are in hiding?

The time period of Indus civilization was divided into the early harappan,
, and late Harappan stages.

What was the newspaper circulated by Jalaluddin?

How much would Kalam earn after selling the tamarind seeds?

Answer any FIVE of the following in about 200 words each: (5x5=25)
Distinguish between Linear and Lateral thinking.

What preparations did Anne Frank’s family and friends do before going into
hiding?

How extensive was the Indus civilization? Discuss with specific references to
geographical locations.

How did Samsuddin influence Kalam and his thinking?

What does Kalam'’s father say about prayer and spirituality?

Write a note on the elements that hinder problem solving.

Writ:e a note on civic planning and organization of Indus civilization.

UNIT - II (POETRY)
Annotate any TWO of the following in about 80 words each: (2x5=10)
I do not envy your hat, your shoe

Why should you envy me my small estate

“And lately from somewhere

In the North, a nephew with stripes

On his shoulder was called

An incident on the border

And brought back in plane

And train and military truck”

“Friend-there’s yogurt on the last course of rice

Today the arrangement on your plate was not properly ordered
Are you going to tell me what mistakes 1 made?

Are you going to tell me my mistakes?”

Contd...2
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IV. Answer any THREE of the following in about 120 words each:

H W N H

=

s> w N

VI.

VII.

VIII.

A w N e

(3x5=15)
Write a note on the conflict presented in “The Justice of peace”.
Describe the ancestral house as a metaphor of Indian culture.
What are the restrictions placed upon the girl by her mother?
How significant is the title of the poem “Bosom Friend”?

UNIT - III (SHORT - STORY)
Answer any THREE of the following in about 120 words each:
(3x5=15)
What is the climay of the story “After Twenty Years”?
Discuss the prominent themes in the story “After Twenty Years”,
Write a note on the Father in the story "My Beloved Charioteer”,

How is the theime of Male oppression brought in the short story "My Beloved
Charioteer”?

Unit IV (Grammar and Vocabulary)
Fill in the: blanks with the appropriate antonyms given in brackets:
(3x1=3)
Man did not create Nature, therefore he does not have a right to it.
I packed my Vital belongings and discarded the ones.
Hehada__ to every problem

(expect, destroy, parm, despair, strength, use less, solution)

Fill in the blanks with appropriate synonyms given in brackets:

(3x1=3)
He found it hard to comprehend.

The Citadel was high above the ground.

The boy looked feeble after suffering from a bout of Malaria.
(fortress, understand, sick, digest, weak)

Select appropriate words to replace the phrase underlined in the

following sente:nces: (4x1=4)

The Gobi desert is a result of extreme dryness,
The author of the book is of unknown name.

They planned to open the shop near an area containing houses.
He acted on his own free will,

(ghost, voluntarily, dessication, anonymous, building, residential, heat)

Contd...3
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IX. Fillin the blanks with appropriate tense forms of verbs: (10x%2=5)
1. Velan was too old. His hut (be) leaky and he (has) no

energy to put up a new thatch. So he (shift) his residence to the

front of the house. It was a deep verandah that (run) on three

sides. When the mood seized him he (open) the house and had

the floor (sweep) and scrubbed. But gradually he _____ (give)

up this practice. Years and years (pass) without any change. It

——_ __ (come) to be known as “Ghost house” and people avoided it. Velan
(find) nothing to grumble in this state of affairs.

X. Choose the right form of verbs given in brackets: (5x1=5)
1. Tobacco and alcohol (is, are) injurious to health.
2. One of my friends ___ (have, has) gone to Zambla.
3. He (like, likes) drinking coffee.
4. Neither Afzal nor you (has, have) been selected.
5. Each of the boys __ ___ (was, were) given a fountain pen.
XI. Fill in the blanks with appropriate prepositions: (2x1=2)
1, Thatis what I was searching
There is no sugar ____ the pot.
XII. Fillin the blanks with appropriate articles: (2x1=2)
1. Hereads Bible everyday.
2. Thisis ___ historic occasion.

XIII. Read the following passage and answer the questions set on it.

A European study revealed that 100% juices of fruit and vegetables are as
effective as their whole fruit or vegetable counter parts in reducing risk
factors related to certain diseases.

The conclusion is the result of a study designed to question traditional
thinking that 100% juices play less significant role in reducing risk of both
cancer and cardio-vascular diseases.

Juices are comparable in their ability to reduce risk vis-a-vis their whole fruit
or vegetable counter parts. According to several researches in the united
kingdom. The researchers analysed a variety of studies and that looked at
risk reduction attributed to the effects of both fibre and anti-oxidants. As a
result, they determined that the positive impact fruits and vegetables offered
come nat from just the fibre but also from the whole fruit and vegetables.

The researchers added that the positioning of fruit juices as being
nutritionally inferior to whole fruits and vegetables in relationship to chronic
disease development is “unjustified” and that the policies which suggest
otherwise about fru't and vegelables juices, should be re-examined.

Give a suitable title to the passage (1)
2. A systematic study of a subject is (1)
(choose a right word from the passage)
3. What are the advantages of drinking fruit and vegetable juices? (2)
4. What was the outcome. of the UK researcher’s studies? (2)
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UNIT-I
(Introduction to Communication)

A. Answer any TWO following questions in about 200-250 words:

(10x2=20)

1. Write a note on LSRW skills.
Explain the varlous stages of communlcation.
Mention some common differences between general and technical

communication.

B. Read the following passage and answer the question below.
(10x1=10)

Since the first Identification of autism In 1943, a lot of research has been
carrled out to study this condition from different perspectives. Now we know
much more about autism but still there are a lot of ‘whys’ we cannot answer
yet. One of the obstacles on the way to answer these “why they behave the
way they do” questions, In my oplnion, is our lack/ impalrment  of
imagination. Yes, many of us might be considered impaired in this aspect as
we Interpret the ‘autistic behaviours’ from our (non-autistic) perspective. For
example, we conslder the So-called self-stimulatory behaviours (flapping
hands, banging head, twirling, spinning rocking etc) meaningless. Yes; they
do look meaningless for us. But are they meaningless for a child who tries,
for examples, to reduce pain caused by hypersensitivity to certain, perceive
and Interpret the world around us Is the only way to do it?

Despite the fact that many people with autism have tried to communicate
their views and insights, these attempts have mostly passed without much
professional notice, one of the reasons being their views and insights are
unconventional to the majority of people (se-called normal people). However
different does not mean abnormal or defective and normalcy is a very
relative term, as the norm is often applied to the performance of majority,
and It Is more justifiable to term It typical. To avoid having to use the term
normal autistic people at Autism Network International (ANI, founded by Jim
Sinclair and Donna Willlams In 1992) have introduced a new term
neurologically typical (NT) to describe non-autistic pecple.

Here 1 deliberately use the term autistic people rather than people with
autism because autism is not something that Is just attached to them. I am
aware of the people first, then disabllity approach. However without autism
they would be different people as being autistic means being different. If
people with autism themselves prefer to name themselves autistic, why
should we be so shy to call them that? Just to show them our respect? But
there are other ways to do it. Why should we be ashamed to call them
autistic? Autism Is not something to be ashamed of. To draw a parallel, we
should call Russian people as “people from Russia” to show that we respect
them despite the fact that under the communist party regime the policy of

that country was to put it mildly, incorrect.
Contd...2
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Our approach should be to listen to autistic individuals who are willing to
communicate and explain how they experience the world and not to assume
that only our views are right because we are specialists/parents. It is the
same as if I said to you, “Sorry, but you speak English with an accent. Let
me teach you English pronunciation. It doesn’t matter that I am Russian. I
am a linguist so I know better than you how to speak your language
Properly”. Let us listen to the opinion of autistic individuals themselves, as
for them autism is a way of being. It is pervasive, it colours every
€Xperience, every sensation, perception, thought, emotion, in short every
aspect of existence. They do not respend in a way we expect them to,
because they have different systems of perception and communication. Bob

Morris calls it a different set of SPATS — senses, perceptions, Abilities and
thinking systems, that are not in the same spectral range as NT individuals
of course

» it Is very difficult to communicate with someone who uses a
anguage (and autistic people are ‘foreigners’ in any culture).

it is equally wrong to use non-autistic methods to teach and treat
autistic children. It is sure to fail and sometimes even to damage their life.
We have to give Up our conventional non-autistic assumptions and let them
teach us of their communication systems in order to build bridges between
the two worlds, So, where shall we start? I like the advice by Donna
Williams, a high functioning woman with autism;: “If you have a camel which
is finding it hard to walk under the weight of all the straws on its back, the
easiest way to make it is easier for the camel to walk as to take as many
straws off its back as possible”... and not to train. “The camel to walk or
appear to walk whilst carrying the straws. To take the straws off the camels
back, you have to do two things. One is identify them and second is find out
how to remove them"”,

If we can understand the causes of Certain behaviours we can accept these
behaviours. If we know what to look for, it will be easier for us to
understand the persons problems and abilities and to find appropriate
methods to identify and remove the straws. Moreover understanding of the
way autistic people experience the world will bring respect to people with

autism in their attempts to survive and live a productive life in the outside
world instead of unacceptance often exhibited by the general public.
1. We know more about autism today than we did a few decades ago

different |
But

Yes/No. (1)
2. We may be considered abnormal by the autistic people. Yes/No. (1)
3. The author calls them autistic people for all of the following reasons
EXCEPT
a. Autism is not something to be ashamed of
b. The approach is people first and then disability
c.Thy prefer to call themselves autistic
d. Autism is not something attached to them (1)
4. What does the author mean by saying ‘autism is a way of being”? (1)
5. 'Straws’ in relation to autistic people refer to ------ (2)
6. ‘Neurologically typical’ would refer to =------- (1)
7. Autistic people use a different language in the sense that ------ (1)
Contd...3

Scanned with CamScanner



SEkIN] | @8 LIpRALY
ST"?).;-‘.'Q:J;;LQ{' .878003 Jf

G. 335.1a Page No. 3
8. Training the camel to walk or appear to walk whilst carrying the straws
Refers to ====c=eaau- (1)

9. Lack of imagination is not the reason to study autism (True/False) (1)
C. Write an essay on any one of the following in about 200-250 words.
(10x1=10)
1. Artis considered an important part of a society as well as an expression of
its culture.
a) Do you think it is important for children to be taught art?
b) Do you think art must be focused more over other subject?
2. Now a days, more people are choosing to socialize online rather than face to
face. Is this a positive or negative development?

UNIT II
Sentence Types, Vocabulary and Usage
A. Choose the right one word substitutes from the options (4x1=4)
1. Belief in one God -~----~ . (Pantheism/Monotheism)
2. Abnormally low blood pressure =---- (Hypertension/Hypotension)
3. Forceful and convincing argument ---- (cogent/voluble)
4. Outer layer of skin ------ (Epidermis/Taxidermist)
B. Write the appropriate Suffix of the word given in the bracket:
(2x1=2)

1. He wants to be a ----- when he grows up (mathematics).
2. He was accused of ----------- documents (false).
C. Write the appropriate Prefix of the underlined word and fill in the

blank (2x1=2)

1. Certain circumstances are avoidable, but some others are ----------
2. Scientist say weather phenomenons were once predictable but now they
have become ----=--~--
D. Choose the appropriate Idioms and Phrases for the underlined word.
(4x1=4)
1. Since I wasn’t aware of the details, I decided to remain neutral.
The new professor initiated a social conversation by telling a joke at the
beginning of his lecture.
I was very happy when I got the first rank at the University level.
The severe drought led the farmers to live only on basic necessities.
(hand to mouth, break the ice, bone of contention, to sit on the fence, cloud

nine)
E. Rewrite as directed. (4x1=4)
None of us wanted to come --==------ (put a suitable question tag).
2. He is arrogant. He will not listen to any advice. (Rewrite using so....that).
Contd...4
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3. When the king came to know of this, he was furious.
(Rewrite using no sooner.......than)
4. Girls and boys are given equal opportunity. (Use not only.......... but also)
F. Choose the appropriate Antonym of the underlined word and fill the
blank, (2x1=2)
1. In the exam results the candidate was mentioned eligible, but later because
of false record he was
2. The room had two doors, one to enter other to
G. Choose the appropriate Synonym of the underlined word and fill the
blank. (2x1=2)
The student’s behaviour agitated the teacher. (fitful, laid-back, content)
Each gentleman addressed her with some hackneyed compliment. (obsolete,
fresh, original)
UNIT III
Transformation of Sentences
A. Convert the following Passage from direct into indirect (1x5=5)

1. Jack: Hi auntie! How are you?

Aunt: Hi jack! I'm fine, thank you. You look handsome my boy.

Jack: I heard Uncle Tom was not so well. Did you bring him to clinic?
Aunt: No, You know how stubborn he is right?
Jack: Yes I know.

Aunt: What course are you taking now Jack?

Jack: Oh, I'm taking TESL now. Means that, I will become an English teacher
soon.

Aunt: Glad to hear that. Now you are in which semester?

Jack: I'm in semester I of degree program. So, overall I have been there for
two years.

Aunt: Oh, I see. How many years more?

Jack: Only 3 years more auntie After that I will be graduated as an English
teacher.

B. Convert the following sentence from Active to Passive: (4x1=4)
1. The sudden noise frightened the horse.

The enemy have defeated our army.
3. Those cars were built by robots.

We must listen to his words.

C. Fillin the blanks with appropriate Tenses and rewrite the passage.

(4x1=4)

(strike) from her religious
literature, The Latter is the work of men with vocations,

and ascetics. The former

1. Ancient India’s religious art differs

brahmans, monks
(come) chiefly from the hands of secular
craftmen, who _____ (work) according to priestly instructions and

increasingly rigid iconographical rules (love) the world they

knew, with an intensity which is usually to be seen behind the religious
forms in which they expressed themselves.

contdn -5
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F.

Write a dialogue of about 15-20 sentences on any one of the
following. (10x1=10)
Write a dialogue between two friends on the topic “The advantages and
disadvantages of life in a city”
OR

Write a dialogue between father and son, on the topic, “choice of career”.
Identify the errors in the following sentences and rewrite the
passage (5x1=5)
One of my friend who is obese has consulted few doctors and is convinced
that he couldn't reduce the weight even though they gave him practical tip
and advice and assured him that if he practices the advice he can slim
down.
Write the best-summarisation of the following and rewrite the
option. (2x1=2)
There are no approved drugs and vaccines for Zika, mainly because
scientists long assumed the virus was so benign that it wasn’t worth the
resources required to investigate treatment. Zika has not been widely
examined; some early research noted that the virus could infect brain cells.
Even now, many people who get infected will never know it, and if they start
showing signs of infection, such as a rash, red eyes, fever or joint pain.
Doctors have little to offer other than advice to stay hydrated or take
Tylenol as needed.
Even though there are no approved drugs or vaccines for Zika, the virus has
not been extensively examined; some early research found that it could
infect brain cells.
Some of the facts pertaining to Zika are that there are no approved drugs or
vaccines for it, the virus could infect brain cells, and the infection is often
unnoticed.
In the absence of approved drugs/vaccines for Zika, there is nothing much
that doctors can do except advising the patient to stay hydrated or take
Tylenol.
There are no approved drugs or vaccines for Zika, and what's really strange
is that many people who get infected will never know it.

UNIT IV

NOVEL
Answer the following question (10x1=10)
What are the major lessons that can be learnt from the book *The Monk who

sold His Ferrari” by Robin Sharma?
ok kR okok kokkkk
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4.1 et fimem @R foreT |

4.2 rEmR ud feer gawn fiel fefiafe 2
4.3 ‘TSI UBIE SaaHieaT w2

4.4 TEAV: &9 SURT MMBR FHEAW 2 _

45 Reffuawoleony oo wuer forew |

4.6 ‘Rauar uciodwr SamkRE: |
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KONKANI

Max. Marks: 100
(1x5=5)

Timo: 3 Hours
Iv) O DNES n wddm
1 Seevt QW Hay 9
2. W03 8wovrd ol thoon® Bmmown 3D e’ ?
3. Jets 9 dncty, (notes - BB0) IR BP0,
4, WOF QX 830 X8RO, ool 9
5. QO0, oot Wwo ?

) Dotwod® BRCET WTwRes 0o Lol (5%2=10)
6. ‘Won ISnFox sSTe X0 RofE 805 wocdw.

7. WReR" J3odn FoIoT mon’ BAR JAURT I ?

8. 0" DeZ” G0 ‘WoBN' ~ Be)eo’ E03R), B30 HWoROI® 7

G) DO BALES S0 WIS, WIS, HFQ0ID (5x2=10)
9. DY, WIF HROT VW
3%, ets’ s T
oo FrH Mo Tosgedo PAT
Xowowe Dex® ohzo.
10. &Yy MROTVOT®
TR, W00’
T, tA¥pletnplenlercy
dees RiR AT wowodn, N
1. 3R0w0FT* HUTY eT TR’
Todum, WHWE BT
TR oY FALF Coodn,
g5) Dowecl’ OW ¥NH0 TOWSF Dolw (5%1=5)

12. aséu:f S8
13. ﬁaaeof a:‘aocb%

II ) OR R W’ wgodw (1x6=6)
14. WO S #80 T ?
15. BT, BRTOFT Se s TowOT T 9
16. QPR° S0XOF r@e0” 80 TYGo ?
17. Puaig.u" Teres T0x" §30 9
18. QAT FHOTYOR, SR 330 LYVTOI® FOTRO ?

19. & TR Lkl aaoawgcifa 9
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B.A. /B.Sc./B.Com./B.B.A./B.C.A. - semester I -Degree Examination

October - 2018
ADDITIONAL ENGLISH

Time: 3 hrs, Max Marks: 100
UNIT -1
(short Story)
I Answer the following questions in about 150 to 200 words each:
(2x5=10)
1. Sketch the character of Sayeda and her brother Eklas in the story
“Shahjahan and His Private Army”
2. Define magic realism and explain the short story “The Birds of the God” as
an apt example of the genre.
UNIT - II
(Poetry)
II Answer the following: (1x5=5)
1. In“Anthem for Doomed Youth” the term “passing bills” means:
a) Bells attached to fast tanks
b) Funeral bells
c) Bells rung for weddings
2. Who is the speaker in the poem “If" and to whom is he or she speaking?
a) Husband is speaking to his wife
b) Father is speaking to his son
c) Poet is speaking to nature
d) Son is speaking to his father
3. The words, ‘place’ and ‘planning’, residues’ and ‘remaln’ used in the poem
“"Philosophy” are examples for -------------
a) Simile b) Personification c) Alliteration d) Anaphora
The poem “Philosophy” states the superiority of ======-=- over philosophy.
5.

III

Who will mourn for the dead soldiers In *Anthem for Doomed Youth"
a) Their young wives

b) Their parents

c) Shells and bugles.

Answer any THREE of the following in about 100 to 150 words each:

(3x5=15)
What images are used in the poem “Anthem for Doomed Youth”
by Wilfred Qwen? Explain.

Contd...2
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How does Wilfred Owen contrast traditional funeral ceremonies with death
on the battlefield?
How does Nissim Ezekiel philosophise ra

be explained, do not explain” in the poem “Philosophy”?
What Is meant by 'Dr, being hated, don't give way to hating,/and yet don't

look too good, nor talk too wise”.

Answer any ONE of the following que

words:
Although Wilfred Owen was a soldier he is an anti-war poet. Support your
“Anthem for Doomed Youth”.

ther simple argument "what cannot

stions in about 250 to 300
(1'}(10:10]

opinion with reference to the poem
Attempt a critical analysis of the poem “If".
UNIT = III

(Novel)
(10x1=10)

Answer the following questions:
g at the beginning of his

What is the name of the school Holden is attendin
story?
a) The Whooton School

c) Don Bosco School
Once, back in New York, the first person Holden tries to invite for a drink is
d) Sally Hays

b) Pencey Prep
d) Elkton Hills

a) A cab driver  b) Faith Cavendish c) Carl Luce
The elevator operator at the Edmont offers to get Holden
a) Drugs b) Complimentary Breakfast c) A prostitute

Who is Jane Gallagher?

d) Movie tickets

a2) An old friend of Holden b) Holden’s girlfriend

c) A prostitute d) None of the above

What record is broken?

a) Shirley Temple b) Shirley Beans ¢) Frank Sinatra
d) Flutwood Hac e) Lady Gaga

Which word best explains the tone of Catcher in the Rye?

a) Hopeful b) Cynical ¢) Joyful d) Hateful
What color is Holden’s hat?

a) Orange b) Red c) Blue d) Pink e) Purple
Who Is Mr. Antolini?

a) A neighbor b) A psychotherapist

c) An English teacher from a school Holden used to attend d) A dog

Holden's favourite word is

a) Superficial b) Booger c) Phony d) Whom

What did Allie write on his baseball gloves?

a) Bible verses b) Baseball stats ) Poems d) The name of girls he liked
Contd...3
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sketch the character of any TWO of the following in about 150 to 200
words each: (2x5=10)
Mr. Antolini
Jane Gallagher
Holden Caulfie'd
Explain the context of any TWO quotations in about 150 words to
200 words each: (2x5=10)
“she is a dancer,” I said. “Ballet and all. she used to practice about two
hours every day, right in the middle of the hottest weather and all. She was
worried that it might make her legs lousy - all thick and all. 1 used to play
checkers with her all the time”.
You know those ducks in that lagoons right near central park south? That
little lake? By any chance, do you happen to know where they go, the ducks,
when it gets all frozen over?
All the kids kept trying to grab for the gold ring and so was old Phoebe, and I
was sort of afraid che’d fall off the goddam horse, but I didn't say anything
or do anything. The thing with kids ls, If they want to grab for the gold ring,
you have to let them do it, and not say anything. If they fall off, they fall
off, but it's bad if you say anything to them
Answer any ONE of the following questions in about 250 to 300
words: (1x10=10)
How does 1.D. Salinger bring about the phoniness of the adult world in the
novel "The Catcher in the Rye™
Eiaborate on Holden'’s understanding of authenticity and artificiality.
UNIT - IV

(Vocabulary and Comprehension)
Read the following passage and answer all questions: (1x5=5)
It took three long years for my coming Into existence, after the idea of new
currency was conceived. 1 was first conceived and named on 1% January

1999, when eleven European countries decided to have a new money form

i.e Euro. My value was determined as per the conversion rate fixed by these

countries in terms of their own currencies. On 1% January 2002, I was
circulated as currency notes when twelve countries adopted me as their
currency. Some countries opposed the Idea of using me and Initially refused
to accept me. But now almost all European countries have accepted me as a
valid currency. My broth Dollar who Is in America, my brother Uira residing
in Italy and my sister Sterling was quite jealous of me but soon they
accepted my existence and started respecting me. I now enjoy a place of

pride among all the currencies In the world and almost everyone accepts me
freely.

1. When did Euro come into exlstence?

Contd...4
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Gues &
2. Euro was accepted without opposition. True/False.
3. Bring out the sibling rivalry In the family of Euro.
4. What Is tge present status of Euro?
v Nn\ \ﬁord from the passage which means ‘envious’
X Cho::se the correct one word to replace the given sentence: (1x5=5)

1. An assembly of listeners

a) Crowd b) Gathering c) Gallery d) Audience
2. The absence of Government
a) Misrule b) Unruly c) Anarchy d) Chaos
3. Broadcast report or news
a) Announcement b) Notice c) Publication d) Bulletin
4. A pecullarity of temperament
a) Wierdness b) Eccentricity c) Anomaly d) Irregularity
5. Loss of voice
a) Volcelessness ~ b) Aphonia c) freeze d) Phonology
X1 Use any FIVE of the idloms and phrases and frame sentences:
(1x5=5)
1. He has no backbone
2. His better half
3. Bag and baggage
4. To call to the bar
5. To break the back of anything
6. To bite the dust
Bee - line
8. To have an axe to grind
XI Put the verb in the correct form of conditional: (1x5=5)
Jo Lemens (bring) you some beer if I had known that you were thirsty.
2. You will miss the traln If you =-====== (not hurry). 2
3. If] mmmammeeee (be) you I would go home immediately.
4, I -cmmem—- (send) Jane a postcard if I had known her address.
5, If my wife ===--- (have) a dishwasher 1 would not have to dry up daily.
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FRENCH
Time: 3 hrs. Max Marks: 100
| Complétez le texte au future simple. 1x10=10

C'est I'eté et les vacances ................. (arriver) bientét. Cette année, M. Dubois et sa
famille ........c........ (passer) les vacances au bord de la mer. Sur le chemin, la
famille .............. (passer) par la campagne pour rendre une petite visite a papi et mamie.

Mais avant de partir, M. Dubois donne quelques consignes a ses enfants Anne, Henry
et Eric : « Nous................ (emprunter) une caravane pour y aller. Je ...............
(conduire) et votre mére ................... (lire) la carte pour nous orienter. Anng, U .......cc.......,
(prendre) des photos pour faire des souvenirs. Henry et Eric, VOUS......co..cvvrvrennn., (faire) la
iiste des villes que nous...................... (visiter). Sur la route,

NOUS ...ooovvvvvnnneneenen(@Cheter) de petits cadeaux pour mamie et papi. Comme ¢a,

18 woovssssirssissnssnnennne, (Etre) vraiment surprise par notre petite visite.

Il Lisez le texte et répondez aux questions. ¢ 1x10=10

Madame Fidalgo habite avenue de la liberation, au-dessus de la librairie. Chaque matin
elle se reveille a 7h00. A 8h0O, elle sort de chez elle et tourne a droite. Elle traverse la
rue du 14juillet et elle va boire un petit café tabac. Puis, elle va achter du pain et le
journal a la boulangerie. Elle traverse le carrefour en direction de la poste. Elle prend le
rue du 14 juillet jusqu'au suare des marronniers. Elle s'installe sur un banc et lit son
journal. A 10h00, elle rentre chez elle et & 13h00 elle deéjeune. Aprés le déjeuner elle
regarde les nouvelle & la tétévision. '

a).0u habite Mme Fidalgo? , -
b).A quelle heure elle se reveille?

c).A quelle heure elle sort de chez elle?

d).Quel avenue elle traverse?

e).0u achete-t-elle le journal et le pain?

f).Ou va-t-elle boire un café?

g).Quelle direction prend -t— elle aprés avoir acheté le journal?
h).Ou s'installe ~t-elle et qu'est-ce qu'elle fait?

i).A quelle heure rentre-t-elle chez elle?

j).Qu'est-ce qu'elle fait aprés le déjeuner?

Il Répondez six questions aux choix. 6 X10=60

a).Parlez du systéme du travail en france!

b).Que signifie I'école pour vous?

c).Parlez du chateau de Chambord!

d).Qu'est-ce que c'est une interdit? Quelles sont les interdits nécéssaires pour bien
fonctionner la société?
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€).0U se déroule festival de Cannes? Développez.
f).Parlez un(e) scientifique frangais(e)!
Q)-Pré‘spntpz un presidents frangais|

IV Ecrivez un dialogue au cholx. 1x10=10
8).Vous voulez organiser une féte dans volre classe. Vous demandez I'autorisation au

grecleur malis il vous donne l'autorisation avec certains interdits.
u

b).Vous devez allez d'urgence dans une pharmacie. Vous garez votre voiture sur une
place de stationnement interdit. Un policier arrive...... continuez.

V Ecrivez une lottre. 1x10=10

a).Ecrivez une lettre & un(e) ami(e) pour parler de vos deriniers vacances

whedhdhirh e
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MALAYALAM
Time:3 hrs. Max Marks: 100
I. @emd meomd Nodomlcd HOTHOANE)M)E (2x5=10)
1. @edrE)mm mu)eawen) il aenleomlswownmeEsinm ?
2. norlipamenilen)mninonmele)e oseflmlsadm) Cloamms)eanns @MW OnlenD
mueamont]a o) 006 7
AQOY AUSETETOIOT RINY @) EmFETN) S1SE)SH@ONMATY CeIaIBM @REINIOWAYSIMT?
4, odomz@ecm »nll parlaflelseymenmilenos ?
5. RI@OBATINN $26MOMall0EE2OOSABINDINEE ?
II. moemspanilm cumdeage MUOEIUIAYE OIEEOBNLE (5x4=20)
6. Bmeeud eela)) @onglay) endseide
mmgy ennnoe mdl@moe annd6BoANe
7. nOMMOHINE] MTAIBHE2RI0I6TBUT
M)AEMRISIaN) GMOWe @AY
8. @neusd M7 ruefl@ eny)dnud @R @len|owee ..
9 UMM oY Gyamylemm) &lSen)a@osn
10 mo2gmmim)enusnE] mOwio UANIGO@IM AIDONMN @SO.
III.  oam) agoamlad ejp@oem ojemepaminy’ pEmOaaey e (3 x10=30)
11, aumnipewsennlapss »sendn udepm Mo Mo o Imd ALY ?
12, BOnH&E (LDNIEMIMYANIJe WlnUeMOMyRNNE® Wim] perodlentmennt
AN DO OEHOATE 7
13, a@omdn aiaslalgieg)o MamIT)e @IsMI..
14 @p moay @dueeosiojemad snilwl eeslay neflesoeomloymy. ESHUDNIYIB EsEReM
aflooea)nom @onemo ?
IV. esmepamilal aym) Aol e nmonm PLOOTELIGTOYE (2 x15=30)
15. ‘@omdaisowlad’ (uelacefleaym  @RWPASE0S Hesm LOODOT ?
16. ‘aievinesmonisuaomlanin’ - @RM@0efle: (aimuen nllweeimo RETUHTY
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St Aloysius College (Autonomous)

Mangaluru

B.Com. Semester I- Degree Examination
October- 2018
FINANCIAL ACCOUNTING - I

SECTION - A

Max Marks: 100

Answer any FIVE of the following. (5x2=10)
Define Accounting.
What is IFRS?
Explain Business Entity concept.
What are Accounting Standards?
What is meant by Error of Omission?
Give the meaning of Bank Reconciliation Statement.
What is Capital Receipt?
SECTION - B
Answer any FOUR of the following. (4x12=48)
Write a note on: a) Principle of consistency
b) Principle of conservatism
c) Materiality
d) Accounting Equation Concept
Write a note on AS 1, 2 and 3.
Prepare Manufacturing Account from the following.
T
1) | Stock at commencement:
a) Raw Material 50,000
b) Semi Finished Goods 25,000
¢) Finished Goods 75,000
2) | Freight & Octroi 7,000
3) | Manufacturing Wages 20,000
4) | Gas & Water 18,000
5) | Stores consumed 10,000
6) | Factory Rent 8,000
7) | Factory Expenses 3,000
'8) | Purchase of Raw Materials 35,500
9) | Returns Inwards 15,000
10) | Returns Outwards 5,500
11) | Sales 3,00,000
12) | Stock at Close:
a) Raw Materials 60,000
b) Semi-Finished Goods 30,000
c) Finished Goods 85,000
13) | Salary _ 1,000
14) | Commission 200
Contd...2
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From the following Recelpts and Payments Account, prepare Income and
Expenditure Account for the year ended 31* March 2017.

[

Receipts ™ Amount Payments Amount |
) ()
B - =]
To Balance b/d 5,100 | By Salaries 36,000
-_‘___h__—_‘————.—
To Subscriptions 30,000 | By Rent 6,000

(Including 2,000 for
| 2017-18)

To Interest on Investment | 15,000 | By PAnting 1,450
| To Bank Tnterest 100 | By Postage 250
| To Sale of Car 2,500 | By Bicycle (Purchased) 950
—— By Furniture 6,800

By Balance c/d 1,250
s 52,700 52,700 |

Subscriptions to be collected for the year 2016-17 - ¥1,500.
Rent includes 2500 for March 2016.

The book value of the car was ¥3,200.

From the following, p'repare Total Debtors Account and Total Creditors
Account and find out credit sales and credit purchases.

b4
Debtors on 1% January 5,000
Debtors on 31% December 4,000
B/P issued during the year 8,000
Cash paid to suppliers 20,700
Discount allowed 150
B/R endorsed 4,000
Endorsed B/R dishonoured 500
Sales Return 600
Creditars on 1% January 4,000
Creditors on 31 December 6,000
Cash received from customers 3,000
Cash returned to customers 270
Bad Debts written off 1,200
B/R dishonoured 1,000
Discounted B/R dishonoured 700
Purchases Returns 200
— |

Contd...3
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The Trial Balance of Mr.Amar, did not agree and the difference is transferred
to Suspense Account. Later, the following errors were detected:

1) Sale of ¥300 was passed through purchases book.

2) Discount allowed 46 was posted to the credit of Discount Account as Z64.

3) Wages paid on the installation of machine is posted to the Repairs Account
as 69, instead of ¥96.

4) Bad debts recovered 120 was included in the list of creditors.

5) Bills drawn for ¥800 was passed through the Bills Payable boak.

6) An item of sale of ¥156 was posted as T165 in the Sales Account.

Rectify the above errors by passing Journal Entries and prepare Suspense

Account.

SECTION-C

Answer any TWO of the following.
From the following Trial Balance and additional information, prepare Trading

and Profit and Loss Account for the year ended 31-3-2017 and a Balance

(2x16=32)

Sheet as on that date.

Trial Balance

Debit () | Credit ()
Capital 1,00,000
Furniture at original cost 20,000
Purchases 1,50,000
Debtors 2,00,000
Interest earned 4,000
Salaries 30,000
Sales 3,21,000
Purchases returns 5,000
Wages 20,000
Rent 15,000
Bad debts written off 7,000
Creditors 1,20,000
Drawings 24,000
Provision for Bad debts 6,000
Printing and Stationery 8,000
Insurance 12,000
Opening Stock _ 50,000
Office Expenses 12,000
Provision for Depreciation on Furniture 2,000
Sales returns 10,000

5, 58,000 | 5,58,000

Contd...4
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Additional Information:
1) Closing Stock 60,000.
2) Provide depreciation on furniture at
3) Provide for doubtful debts 5% on Debtors:
4) Salary unpaid ¥3,000 and salary includes pal
5) Insurance prepaid %2,000.
6) Outstanding office expenses 8,000.
7) Goods used for private purpose %6,000.
15. From the following Receipts and Payments Ao
prepare Income and Expenditure Account for the year

a Balance Sheet as on that date.

20% on original cost.

d in advance Z2,000.

unt of City Club, Bangalore,
ending 31-12-2016 and

-12-2016
Receipt and Payment Account on 31 12-20

= | Amount
Receipts Amount Py ®)
® = 6,000
To Balance b/d 5,000 | By Furniture 4’0__
To Donations 10,000 | By T.V Set e
To Subscriptions: By Salaries R0
2015 1,200
2016 19,000
2017 500 s
To Rent of the hall 2,200 | By Telephone Charges 2S00
To Interest on Securities 1,000 | By Electricity Charges 1,100
To Receipts from Cultural 2,000 | By Printing & Stationery 1,700
Show
To Sale of old furniture 600 | By Meeting Expenses 2,400
(Book-Value ¥1,000)
To Sale of old newspaper 100 | By Travelling Expenses 1,600
By Books 1,000
By Newspapers 800
By Municipal Taxes 900
By charity 1,300
By Expenses on Cultural 1,400
Show
By Balance c/d 11,800
Adjustments:
1) The club has 200 members,

each paying an an ——
7100. g nual subscription

2) Subscriptions outstanding as on 31-12-2015 were ¥1,500
3) Outstanding liabilities on 31-12-2016 were: ' .
Salaries ¥1,200 and Printing 100

4) Municipal taxes were paid for the year ending 31% March 2017

Contd...5
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5) On 1-1-2016, the club owned Land and Building ¥25,000, Furniture
¥12,000, Books %6,000 and 10% Government Promissory Notes
Z15,000.

6) Donations are to be capitalized.

16. From the following particulars, prepare a Bank Reconciliation Statement of
ABC Ltd. as on 30-09-2016.
1) Overdraft as on 30-9-2016 as per bank pass book ¥10,000.
2) Cheque deposited in the bank, but not recorded in the cash book X100.
3) Cheques received and recorded in the bank column, but not sent to the
bank for collection T1,000.

4) Several cheques were drawn in the last week of September, totalling
%15,000. Of these cheques, totalling only 39,000 were cashed before
30™ September.

5) Several cheques totalling 39,000 were sent for collection. Of these
cheques, of the value of ¥3,500 were collected and credited by the

bank in October.

6) On 11" September 2016, the credit side of the bank column of the
cash book was undercast by ¥1,000.

7) Fees of 250 paid directly by the bank, but was not recorded in the
cash book.

8) In the cash book, a bank charge of T30 was recorded twice.
another bank charge of ¥50 was not recorded at all.

9) Interest of 1,400 was charged by the bank but was not recorded in
the cash book.
10) The credit balance of 2,600 on September 15, 2016 was brought

forward on 16" September 2016 as debit balance of ¥2,600.
11) A wrong debit given in the bank pass book ¥1,500.
12) Insurance premium directly paid by the bank under standing

instructions ¥600.

While

SECTION - D
Answer the following: Compulsory
17. Anand has not kept proper books of Accounts.
prepare statement of Profit or Loss for the year ending 31-3-2016.

(10)
From the following details

Particulars 1-4-2015 (3) | 31-3-2016 (%)
Cash in hand 1,000 3,600
 Debtors 2,000 8,000
Creditors 1,000 4,600
Bills Receivables 2,000 2,400
Bills payables 400 4,200
Car (1-7-2015) - 8,000
Stock 4,000 3,000
Furniture 800 4,800
Investment 4,000 5,000
Bank Balance : 10,000 9,000
Contd...6
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Adjustments:

4 e use.
1) Anand withidrew cash ¥500 per month for privat

done on
. rniture was
2) Depreciate car at 5%, furniture 10%;, addition to fu

1-7-2015.
3) Outstanding rent ¥600.

4) Additional capital introduced during the year %3,000.

e ok ok ok ok ok Rk
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INTERNATIONAL FINANCIAL ACCOUNTING
Max. Marks: 100

Time: 3 Hours

SECTION - A
Answer any FIVE questions (5x2=10)
1. Alpha purchased a van for $ 800 cash. e estimates that in four years it will have a

scrap value of § 70. Calculate the annual depreciation charge under reducing balance

method at the rate of 25%.

2. Why inventories are classified as current assets?
3. At 1¥ July 2016 a company had a loss allowance for receivables for $ 83,000.During

the year ended 30™ June 2017 debts totaling $146,000 were written off. At 30"™ June
2017 it was decided that $218,000 was required as a loss allowance for reccivables.
What is the total amount that should appear in profit or loss for the year ended 30"
June 2017 for irrecoverable debts?

4. Give two examples of cash flow relating to investing and financing activities.

5 Patrick starts a new business. During the first year the entries in the sales ledger

control account are:

S
Sales 250,000
Bank receipts 225,000
Sales returns 2,500
[ Trrecoverable debts written off 3,000
Dishonoured cheques 3,500
Contra with purchase ledger control account 4,000

What is the balance on the sales ledger control account at the end of the year?

6. What journal entry is required to record goods taken from inventory by the owner of a

business?

7. List the three qualities of faithful represcntation.
Contd...2
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SECTION (4x12=4g)
Answer any FOUR questions

8. Given below the Bank Account of Mr. Nayak:

“haNo. | Amount
articulars | Chd:
Date | Particulars | Amount | Date | Partic —1-1*372”_'_ 17,456
] [ ¥ )
3 Jan | Balance B/F 1,12,981 1 Jan Anisha "T:Ts_"____—ﬁﬂ'
5 ] ’
4Jan | Asha 2,897 6 Jan Amanda e
e (1136 | 602
Ayesha 2,459 14 Jan | Varu - 58
11
10 Jan | Pavan 12.585| 17 Jan | Hary |
_,_T-—————-Tﬁg"_ 3,403
14 Jan | Den 6,507 24 Jan | Yashu I—-————
21 Jan | Esha 3,020f 29 Jan Rent "_______116_4___
3 ;] 8
23 Jan | Cash sales 12,439 31 Jan Balance C/F __,__--—————-54
30 Jan | Franc 8,596 %
] 4,4
Total 1,61,484 Total L______J
N o—
INMDC Bank statement - Nayak
Date Details With | Deposits |  Balance
$ $ $
1 January | Balance b/f L4701
2 January | 1132 6,485
2 January | 1133 11,123 1,00,153
2 January | Deposit 12,828 1,12,981
5 January | 1134 17,456
5 January | Bank charges 478 95,047
6 January | Deposit 5,356 1,00,403
10 January | Insurance (standing order) | 1,877 98,526,
11 January | 1135 1,177 91,349
13 January | Deposit 12,585 1,03,934
17 January | 1136 6,022 97,912
17 January | Deposit 6,507 1,04,419
23 January | Deposit 3,0200  1,07,439
24 January | Deposit 12,393 1,19,832
28 January | 1138 3,403 1.16.429
30 January | 8567 12,850 1.03.579
a) Prepare a bank reconciliation statement at 1 December
b) Update the cash book for December,
c) Prepare a bank reconciliation statement at 3] December.
(:|J|'|.|:d--'3
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9. The following information is available for Tomas Maxim’s business for the year ended

31" December. He started his business on 1* January.

Particulars $

Trade payables 6,400
Trade receivables 5,060
Purchases 16,100
Revenue 28,400
Motor van 1,700
Drawings 5,100
Insurance 174
General expense 1,596
Rent 2,130,
Salary 4,162
Inventory at 31* December 2,050
Sales returns 200
Cash at bank 2,628
Cash in hand 50
Capital 4,100

Prepare a statement of profit or loss for the year ended 31% December and a
statement of financial position at that date.

10. “The owner of a business may choose to run it as a sole trader or as a limited liability
company”. Explain eight differences between the two methods of operation.

11. Lorca’s drafi statement of profit or loss showed a profit of $ 830,000. However the trial
balance did not balance and a suspense account with a credit balance of $ 20,000 has
been included in the statement of financial position for the difference.

The following errors were found on investigation:
i)  The proceeds of issue of 100,000 50cent shares at 70cent per share were correctly

entered in the cash book but had been credited to sales account.

ii) During the year $ 8,000 interest received on a holding of loan notes had been

correctly entered in the cash book but debited to interest payable account.

iii) In arriving at the net sales and purchases totals for the year, the $ 48,000 balance
on the returns outwards account had been transferred to the debit of sales account
and the $ 64,000 balance on the returns inwards account had been transferred to
the credit of purchases account.

A payment of $ 4,000 for rent had been correctly recorded in the cash book but
debited to the rent account as $ 40,000.
a) Prepare journal entries to correct the errors. Narratives are NOT required.

b) Calculate the revised profit after adjusting for the errors.
Contd...4
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. : example of i
Define the following accounting concepts and give for each onc an p its

application
a) Accruals o b) Substance over form

i c
¢) Consistency (see note below) d) Duality ¢) Prudence

: ircumstances j
Note: Your answer to (c) should include a brief explanation of the ¢ o

which the consistency concept should not be applied.

The receivables ledger control account of Atanga at 31" December shows a debit
balance of $ 487.600. The list of receivables ledger balances at the same date totaled
$ 455,800 debit. There were no credit balances:

On investigation the following errors and revisions were found:

i) The sales day book had been overcast by $ 2,000.

i) A debt of $ 8,400 is to be written off.

iii) A credit notc for $ 1,200 was entered on the debit side of the cu
ger totaling $ 16,100

stomer’s account,

iv) Contras against amounts owing to Atanga in the payables led

were entered on the debit side of the receivables ledger control account.

v) A credit note for $ 5,600 sent to a customer and recorded at that figure should
have been for $ 4,500.
vi) Cash discount allowed and agreed at $ 150 has not been recorded in the
accounting system.
a) Prepare a statement showing the necessary adjustments to the receivables ledger
control account balance. |
b) Prepare a statement showing the necessary adjustments to the total of the list of

receivables ledger balances.

SECTION-C
Answer any TWO questions (2x16=32)
14. The following balances have been extracted from the accounting records of Minica at
31% December 2016:
Reference to notes $
Revenue (i) 3,845,000
Opening inventory 360,000
Purchascs (iit) 2,184,000
Carriage inwards 119,000
Carriage outwards 227.000
Office equipraent at 1* January 2016 (i) (iii) and (iv)
Cost . 460,000
Accumulated depreciation 92.000
Trade receivables 62(; 000
Loss allowance for receivables at 1% ) 20000
January 2016 :
Trrecoverable debts written off during 15 000——"“'"
the year i ’
| Sundry administrative expenses 216,000
contd...5
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The following further information is available:

i) Closing inventory amounts to 450,000

i) Some office equipment, which had cost $ 20,000, with accumulated depreciation at
1™ January2016 of $ 14,000, was sold for $ 15,000 during the year. The sale
proceeds were included in the sales figure of $ 3,845,000.

iii) The cost of new equipment purchased on 1" July 2016 for § 60,000 has been
included in the purchases figure of $ 2,184,000

iv) The company depreciates its office cquipment at 20% per year on the straight line
basis, with proportionate depreciation in the year of purchase but none in the year
of sale. None of the equipment held at 1* January 2016 was more than three years
old. '

v) The loss allowance for trade receivables at 31" December 2016 is to be 5% of
accounts receivable.

vi) Accruals and prepayments on sundry administrative expenses at 31 December
2016 were: Accrued expenses $ 28,700 prepaid expenses $ 14,400

vii) The directors propose a dividend of 6¢cent per share on the ordinary share capital
(4,000,000 shares of 25cent cach) to be paid in July 201 7. No dividends were paid
in 2016.
a) Prepare Minica’s statement of profit or loss for the year ended 31% December

2016 for internal use.
b) Calculate the total amount of the proposed dividend and state how it should be
dealt with in Minica’s published financial statcments.
15. The summarized financial statements of Renada at 31* October 2016 and 3 I** October

2015 are given below: Statements of financial position 31% October

_ Reference | 2016 $ 000 2015 $ 000
to notes $ 000 $ 000
Assets
Non-current assets (i), (i), (iii) 1,800 1,000
(at carrying amount)
Current assets
Inventories 1,600 600 )
Receivables 1,800 1,270 B
Cash Nil 3,400 140 2,010
Total assets . 5,200 3,010
Contd...6 !
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| Equity and liabilities ﬂ

Equity |

Ordinary share capital gt
__-——-0-"‘

Share premium account @iv) &2
_———-6-'“

Revaluation surplus (iv) 20

- . — 1,080 |

Retained earnings ) ___1._1.___-_-—-____

Current liabilities
_———-—0—-“

Bank overdraft 28
W

Income tax 40
2,100 |

Trade payables —%’—1-9—'—'
| =

Total equity and capital L”4

Statements of profit or loss 31% October

Gross profit

(1,500)
Operating expenses

600
Profit before tax 200 _
0
Income tax expense (40) (120)
Profit for the year 160 480

Notes:
i)  On I®November 2015 office equipment that had cost § 240,000 with a carrying
amount of $ 80,000 was sold for $ 30,000.
ii)  The purchase of new non-current assets took place near the end of the year.
iii) The depreciation charge for the year ended 31% October 2016 was $ 120,000.
iv)  The ordinary share issue was on 31% October 2016.
v)  Some of the non-current assets were revalued upwards by $ 300,000 on 1%
November 2015.
a) Prepare a statement of cash flows for Renada for the year ended 31% October
2016 in accordance with IAS 7 “Statement of Cash Flows”.
b) Calculate the ROCE ratio and the quick ratio for Renada for the two years
ended 31% October 2015 and 2016.

16. The following information relates to the two month’s trading of Raman, who is in
business as a greengrocer. All transactions are on a cash basis

1January ~ Raman paid $ 350 into the business

15 « Bought gOOdS for S 200
93« Paid motor expenses $ 4(
31 Sold goods for $ 300

contd.7
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5 February Received $ 300 from Denis as a loan repayable in two year's time.

g ™ Purchased goods for § 200
g = Sold goods for $ 150

- Paid rent of $ 50

28 Sold goods for § 300

Required for cach month:

a) Wrile up and close the relevant ledger accounts for the above transactions

b) Extract a trial balance

c) Prepare a statement of profit or loss

d) Draft a statement of financial position.

SECTION-D

Answer the following (1x10=10)

17. Mr. Udot commercial business on 1% January 2015 and has purchased for cash the

following threc machines for his various manufacturing processcs:

[ Date of purchase Cost Rate of depreciation
$
Machine 1 20" January 2015 4,200 25%
Machine 2 17" April 2016 5,000 30% |
Machine 3 11™ July 2017 3,500 35%

Udot's policy is to charge a full year’s depreciation in the year of purchase irrespective

of the date of purchase. The reducing balance method is used to calculate depreciation.

Accounts are prepared 3 1% December each year.

i) Prepare the machinery account and accumulated depreciation account showing the
charge to the depreciation account each year.

ii) Show the extracts relevant to the statement of financial position for each year.

35 ok ok ok ok ok ok ok ok ke ko ok kR kK
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St Aloysius College (Autonomous)
Mangaluru
B.Com Semester I - Degree Examination
October - 2018
BUSINESS ECONOMICS
Time: 3 Hours Max. Marks: 100

SECTION-A
Answer any FIVE of the following: (5x2=10)

. Give the meaning of Micro and Macro Economics.
. What is Budget Line?

_ What is income clasticity of Demand? Write its formula.

1
2
3
4. What is Iso-quant Curve? Write any two properties.
5. What is Marginal rate of technical substitution?

6. Definc scarcity definition of Economics.

7. Give the meaning of Demand forecasting.

SECTION-B
Answer any FOUR of the following: (4x12=48)

8. Explain the role and responsibilities of Business Economists.

9. Explain indifference curve analysis along with assumptions and diagram.
10. Explain the concept of change in demand and quantity demanded.
11. Explain the various types of price clasticity of demand.
12. What is monopolistic competition? Explain its features.
13. Explain Kinked Demand Curve model.

SECTION - C
Answer any TWO of the following: (2x16=32)
14. Explain the law of diminishing marginal utility analysis along with assumptions,
and limitations.

15. What is perfect competition? Explain short run equilibrium of a firm under perfect

competition.
16. Explain the law of variable proportion along with assumptions, table and diagram.

SECTION-D
Answer the following: (1x10=10)

17. Explain the concept of consumer surplus with a diagram.

ARk
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BUSINESS STATISTICS
Max. Marks: 100

SECTION - A

Answer any FIVE of the following (5x2=10)

. State any two differences between primary data and secondary data.

. What is meant by chronological classification of data?

. The mean marks of sludent_s in 2 sections A and B of a class is 62. The mean marks of
students in section A is 70. If the number of students in section A and section B are 30
and 35 respectively, then find the mean marks of students in section B.

. For a frequency distribution, the mean and mode are respectively 50.4 and 66.78. Find
the median.

. Calculate the geometric mean for the following data:

65, 169, 142, 355
. If quartile deviation =17, Q, =22find Q.
_IfC.V. and S.D. of a distribution are 41% and 22 respectively, find the mean.

SECTION - B

Answer any FOUR of the following (4x12=48)

. a) What are the functions of statistics? Explain. (6)
(6)

" b) Explain the applications of statistics in business.
. Calculate 5 yearly and 7 yearly moving averages for the following data of the numbers

of commercial and industrial failures in a country during 1992 to 2007:

No. of lailures

Year No. of failures Ycar
1992 23 2000 9
1993 26 2001 13 .
1994 28 2002 11
1995 32 2003 14
1996 20 2004 iz
1997 12 2005 9
1998 12 2006 3
1999 10 2007 1

Contd...2
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c ¢ following data. ASSUmip,
10. Fita straight line trend by the method of least squares 10 th ;

ould be the prcdictcd earning for the Vear

2004 | 2005 _20021 2007

—e | 60 | 87 | g5

that the same rate of change continues, what W
2009? '

Year 2000 | 2001 | 2002 | 2(301
Earnings 38 1 a0 | 65 72

g lakhs)

: ing results:
11. Calculate the correlation coefficient from the following

N=10, ¥ x=350, Y y=310
2 (x-35) 162, 3 (y-31) =222
2.(x=35) (y=31)=02

i ta:
- Calculate mean deviation from mean from the following da

Marks 0-10 1020 | 20-30 | 30-40 | 40-50 50-60 | 60-70
' 6
No. of students 6 5 8 15 7 3

—— .________-J

13. The table below gives the weight measurements of 200 castings:
[ Weightin Kg No. of castings Weight in Kg No. of castings
8150 3 141-150 31 ]
91-100 5 151-160 29
101-110 .13 161-170 11
111-120 20 171-180 3
121-130 30 181-190 1
131-140 49 i
E | |
Calculate arithmetic mean, median and mode.
SECTION - C
Answer any TWO of the following (2x16=32)
14. From the following data compute the coefficient of correlation between age of husbands
and age of wives;
Age of wives
Age of husbands 1535 3535 T;-E_W—S—Sﬁ_zﬁs_ Total
15-25 1 1 h____““‘““‘"‘* 3
25-35 2 12 *__1___ I = i3
35-45 - 4 BT T B
A G B N I e o R
55-65 -- - “‘:“T—T___z_______
65-75 - - “‘:‘“—*_T-h-l-__—_____z g
Total 3 —-iETT* i
S

Contd---3
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15. Two cricketers scored the following runs in international one day matches. Find who is
better run getter and who is more consistent player.

A 28] 70] 31 ] 0] 59| los] 82] 141 3 95_]

B | 42| 17| 831 591 72| 64 | 45 | 40 132 |

I i | | e )
16. Calculate the index number using both the aggregate expenditure method and family

budget method for the year 2013 with 2000 as the base year from the following data.

76 |

Commodity Quantity in units in|  Price per unit in Price per unit in
2000 2000 (%) 2013 (%)
A 100 8.00 12.00
B 25 6.00 7.50
C 10 5.00 5.25
D 20 48.00 52.00
E 25 15.00 16.50
30 9.00 27.00 “:j
SECTION -D
Answer the following (1x10=10)
17. The age distribution of 100 life insurance policy holders is as follows:
Calculate the harmonic mean
Age (Years) 15-24 25-34 35-44 45-54 55-64 65-74 J
No. of clients |' 9 28 30 10 12 | 11 J
FEEEFEERRERRERKF
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ORGANIZATIONAL BEHAVIOUR

Time: 3 Hours Max. Marks: 100

SECTION - A

Answer any FIVE of the following: (5x2=10)

1. What is Super Ego?

2. What is Valence?

3. Define motivation.

4. State the meaning of ‘planned change’.
5. Define organizational behaviour.

6. What is meant by a closed group?

7. Who is a change agent?
SECTION -B
Answer any FOUR of the following:
8. Explain the different models of organizational behaviour.

(4x12=48)

9. What are the factors inﬂucncing resistance to change? Explain.

10. Describe the principles of learning.

11. How is Maslow’s Hierarchy of needs related to motivation in organization?

12. Explain the strategies to overcome stress.
13. What are the factors influencing perception? Explain.

SECTION - C

Answer any TWO of the following: (2x16=32)

14. What are the difterent styles of leadership in an organization? State their

advantages and limitations.

15. What is meant by conflict? Explain the strategies for managing conflict.

16. What is organizational change? What are the forces responsible for organizational

change?
SECTION -D

Answer the following: (1x10=10)

17. Write a note on Hawthorne Experiments.

seeokokok
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FUNDAMENTALS OF ACCOUNTING-1
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SECTION - A

Answer any FIVE of the following:

1. Define a promissory note?

2. A company is following weighted average cost method for valuing its inventory.

* The details of Its purchase and issue of raw- materials during the week are as
follows:
1.12.2011 opening Inventory 50 units value ¥ 2,200. 2.12.2011 purchased
100 units @ T 47.
4,12.2011 issued 50 units.
5.12.2011 purchased 200 units @ ¥ 48,
What is the unit weighted average costs and the value of inventory at the end
of the week?

3. Dravid of Delhi sends out goods to Sourav of Kolkatta, Goods costing
7 2,00,000 at cost +25%, with the instruction to sell it at invoice +20%. If
4/5" of the goods are sold at stipulated selling price and commission allowable
2% on sales. What will be the profit on consignment in the books of consignor?

4,  Debit balance as per Cash Book of ABC Enterprises as on 31.3.2011 is ¥ 1,500.
Cheques deposited but not cleared amounts to ¥ 100 and cheques issued but
not presented of ¥ 150. The bank allowed interest amounting X 50 and collected
dividend % 50 on behalf of ABC Enterprises. What should be Balance per pass
book?

5.  What are the objectives of providing depreciation?

List out any two situations were accounting estimates can be used?

7.  What are the limitations of accounting standards?

(5%2=10)

o

SECTION - B
Answer any FOUR of the following: (4x12=48)
8. B owes C a sum of Rs 6,000. On 1% April, 2011 he gives a promissory note for
the amount for 3 months to C who gets It discounted with his bankers for Rs
5,760. On the due date the blll is dishonoured, the bank paying Rs 15 as noting
charges. B Then pays Rs 2,000 in cash and accepts a bill of exchange drawn on
him for the balance together with Rs 100 as interest. This bill of exchange is for
2 months and on the due date the bill is again dishonoured, C playing Rs 15 for
noting charges draft the journal entries to be passed in C' S books.

9. X Co.Ltd purchased a machine on 1* April, 2008 for Rs 1,60,000. On October 1,
2009 another machine was purchased for Rs 1,40,000. On October 1, 2010 the
first machine was sold for Rs 1,20,000. On the same date, another machine
was purchased for Rs 1,00,000. On October 1, 2011 the second machine was

sold for Rs 92,000,

Contd...2
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Rate of depreciation was 10% on original cost annually on 31% March, op, 5,
March, 2011 the method of charging depreciation Was changed to diminismng
balance method, the rate being 15%.

Prepare Machine Account for the years ending 31% March, 2009,2010,2011'
and 2012, f
Inventory taking for the year ended 30" September, 2011 was completeq p, |
10" October 2011, the valuation of which showed 2a inventory figyure 3 |
% 1,67,500 at cost as on the completion date. After the end of the accounting |
year and till the date of completion of inventory taking, sales for the next ye,,
were made for % 6875, profit margin being 33.33 percent on cost. Purchases f,,
the next year included in the inventory amounted to ¥ 9,000 at cost less trage
discount 10 percent. During this period, goods were added to inventory at the
mark up price of ¥ 300 in respect of sales returns. After inventory taking it wag
found that there were certain very old slow moving items costing ¥ 1,125,
which should be taken at ¥ 525 to ensure disposal to an interested customer.,
Due to heavy flood, certain goods costing ¥ 1,550 were received from the
supplier beyond the delivery date of customer. As a result, the customer
refused to take delivery and net realizable value of the goods was estimated tg
be ¥ 1,250 on 30* September. Compute the value of inventory for inclusion in
the final accounts for the year ended 30" September, 2011. (8)

A® lentZ 25,000 to ‘B’ on 1% January, 2011, The amount is repayable in
half- yearly installments commencing from 1% January, 2012. Calculate the
average due date and interest @ 10% per annum. (4)
The following information has been extracted from the records of N Patel
Bank account for the month of January

Date Amount | Date Ch.No AmounT_‘
1Jan | Balance b/f [17,471 |1Jan [A 72 875 |
2Jan | Manu 273 6Jan |B 73 337 |
Bayu 2,103 |14Jan |D 74 622 |

10 Jan | Charly 1,117 [17Jan |C 75 97/’J'
14 Jan | Delton 657 24Jan |H 76 y
21 Jan | Echo 329 29 Jan |Rent 77 260 |
23Jan |Cashsales |1182 [31Jan |Balance ¢/f | _ 21457 |
30 Jan | Franc 859 \
23,991 % —ﬁ’g’g'ﬂ

Contd",
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HNBC Bank Statement for the month of January -N Patel
Date 5 Details With - Deposits Balance
1January  Balance b/f 18,761
2 January 70 645
2 January 71 773 17,343
2 January Deposit 128 17,471
5 January 72 875
5 January Bank Charges 47 16,549
6 January  Deposit 2,376 18,925
10 January Standing Order 137 18,788
(rates)
11 January 73 373 18415
13 January Deposit 1,117 19,532
17 January 74 622 18,910
17 January Deposit 657 19,567
23 January Deposit 329 19,896
24 January Deposit 1,128 21,024
28 January 76 343 20,681
30 January 310923 297 20,384

a) Prepare a bank reconciliation statement at 1 January
b) Update the cash book for January
c) Prepare a bank reconciliation statement at 31 January
Explain the accounting treatment along with journal entries required when the

12.
business sends goods on sale or approval basis i)Casually ii) Frequently and
iiiynumerously. '

13. Maneck and Nari decided to work in partnership the following scheme, agreeing

to share profits as under:
Maneck to take -3/4"'s share

NAri to take -1/4" share
They guaranteed the subscription at par of 10,00,000 shares of Rs 10 each inm

Shela Ltd. and to pay all expenses up to allotment in consideration of the shela
Ltd. issuing to them 50,000 shares (other than 10,00,000 shares issued to
public) of Rs 10 each, fully paid. Maneck introduced cash into the business to

meet the following expenses:
T

Stamp charges and registration fees 48,500
Advertising charges 28,500
Printing charges of memorandum of association, 23,000
articles of association and prospectus, etc.
Nari introduced cash to meet the following

expenses

Rent
Solicitor” s charges

37,000
13,000

Contd..4
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14,

15;
16.

17.3)

%16, b
2.300 a
(e A0Q0a0w A ge-Nn_

0,00,000 shares by 30,000 shareg,

. arl

Applications fell short of the_ t1 account for the sal: 32,0:n0d S;ai;es_ Thi
ash on join 0 share ald to

;n::gj:feﬁa;uﬁﬁ;a; to subscribe the sald 30,00 the

company. °

ed over to Maneck ang ,,.
The guarantee having been fulfilled, shela Ltd. hand N

g 4 il
hares. Nari received the
|d all the s dlg

50,000 shares. The Partnership firm sO ,000 and Maneck o
proceeds 0; 20'000 Shares amounting tg OF:]SO;;OS‘O fth&
remaining 60,000 shares amounting to RS f'bot'h the parties.
Give the necessary accounts in the book ©

SECTION - C

. (2)(16::32)
Answer any TWO of the following:

, of castor oil to Das of
The swastika oil Mills, Mumbai consigned S,ODOHKjas Rs 460 per kg. The
Kolkata on 1% January, 2012. The cost of the © ight and insurance. Durin
swastika oil Mills paid Rs 2‘00,000 for paCKing’ fre.gh the insurers paid di .
transit 125 kg. were accidentally destroyed for Whlr: clalm - i
to the consignors, Rs 45,000 In full settlement of;h the .0 —
Dass took delivery of the consignment on the 10 Januar:l. n a;cn.
2012 Dass reported that 3,750 kg. were sold at Rs 600, the expenses‘ eing on
godown rent Rs 30,000 on advertisement Rs 40,000 and on salesmen f‘
salaries RS 64,000. Dass is entitled to a commission of 3 per cent plus 1%, per
cent del credere. A party which had bought 500 kg was able to pay only gg,
of the amount due from it.
List and explain the widely accepted Accounting concepts.
A colliery worked coal under a lease which provided for the payment o
royalties at Rs 5 per tonne with a minimum rent of Rs 1,70,000 per annum,
Each year’s excess of minimum rent over the actual royalties was recoverable
during the subsequent three years.
The lease, however, stipulated that if in any year the normal rent was not
attained due to strike or accident, the minimum rent was to be regarded as
having been reduced proportionately having regard to the length of the
stoppage.
The output was as follows:
Year ended 31% March,2007 4,000 tonnes
Year ended 31% March,2008 28,000 *
Year ended 31* March,2009 30,000 ™
Year ended 31* March,2010 46,000
Year ended 31% March,2011 30'000 u
Year ended 31% March,2012 . 50.000
During the year 2010-11 !

e b there was a stoppage due to strike lasting three
mo 4 e the necessary ledger accounts | iapy for
each of the above years. In the books of the colliery

SECTION - p

Answer the following -

9 = each case i Independent of other (1x10=10)-
A sole-trader purchased a Computer for 450 o ¢
following incorrect accounting entries tq reco?df(:; o8 term use. te postd !
Dr Repairs expense $500 ® Purchese:

Cr Bank $500
' 1

What kind of an error g this? i

contd-*
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b) When completing his final accounts, Jerome Identified that he had overstated a
year-end prepayment. When the error Is corrected, what will be the effect on
Jerome's net‘broﬁt and capital? (state whether it decreased or increases) (1)

c) When Robert's trial balance was extracted, the total of the debit balance was
$208,462 and the total of the credit balance was $208,642. He opened a
suspense account for this difference and upon investigation, he found that

(i) A cash sale for $50 was debited to the cash account, but no entry was
made in the sales account;

(ii) The opening Inventory figure of $1,200 was omitted from the trial balance

Following the correction of these errors, what would be the balance on the

suspanse account. (3)

d) Weagan's trial balance at 31 October 20X9 is out of agreement, with the debit
side totaling $500 less than the credit side. During November, the following

errors are discovered:

« The credit side of the sales account for October had been undercast by

$150.

« Rent received of $240 had been credited to the rent payable account.

« The allowance for receivables, which decreased by $420, had been
recorded In the allowance for receivables account as an increase.

Following the carrection of these errors, what would be the balance on the

suspense account? - (3)

e) Classlify the following errors under a) Errors of omission, b)Errors of Commission
and c) Errors of Principle, d)compensating errors.

i. The total of sales book was not posted to the ledger. (2)
ii. Sales to Heena ¥ 143 was posted to Meena as ¥ 143.

ili. Goods taken away by the proprietor for personal use not recorded
anywhere.
iv. The total of a folio In the sales book ¥ 1000 was carried forward as ¥ 100.

s e ok o o sk sk ok
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BUSINESS ECONOMICS - 1
Time: 3 hrs. Max Marks: 100

SECTION - A
Answer any FIVE of the foilowing: (5x2=10)
1. What is the meaning of Business Economics.
What is cross elasticity of demand?
What is a budget line?
Give the meaning of Elasticity of Supply.
What is increasing returns to scale?
What is the meaning of Price discrimination by a Monopoly?
State the features of Business cycles.

Nooswn

SECTION - B
Answer any FOUR of the following: (4x12=48)

8. Explain the scope of the study of business Economics.

9. State and explain the law of demand with the help of a diagram.
10. Briefly explain the different determinants of supply.

11. Explain the different concepts of costs with a suitable diagram.

12. Explain the features of perfect competition.
13. Explain the different phases of trade cycles.
SECTION - C
Answer any TWO of the following: (2x16=32)
14, Explallin the role of Price mechanism under Market and Non Market Economics.
15, Explain the Consumer’s Equilibrium under Indifference curve approach.

16. Explain the price and output determination under Monopolistic Market.

SECTION - D

Answer the following case study: (1x10=10)
17.a) In a firm if AVC<P<AC, will the firm shutdown or continue to produce? Give
reason.
b) Distinguish between Fixed cost and variable cost
c) Make a comparision between perfect competition and Monopolistic competition.

ok o ok ok o e ok KR KR
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BUSINESS STATISTICS AND MATHEMATICS
Time: 3 hrs, Max Marks: 100

SECTION - A

Answer any FIVE of the following: (5x2=10)
1. Write down the values of 8C, and 1°C, .

2. State any 2 uses of diagrammatic representation of data.

3.. In .a collection of nuts and bolts, the mean weight of nuts is 3gms and the mean
weight of bolt is 8gms. IF the combined mean is 4 gms, find the proportion of
nuts in the collection.

4. If Fisher's Index Number is 114.8 and Paasche’s Index Number is 116.1, Find
Laspeyre’s Index Number.

5. What is time series?

6. Find out the median from the following
52, 58, 61, 42, 38, 65, 72, 66

7. A,P,R, X, S and Z are sitting in a row. S and Z are in the centre. A and P are at
the ends. R is sitting to the left of A. Who is to the right of P ?

SECTION - B
Answer any FOUR of the following: (4x12=48)

8. Following is the distribution of wage of workers. Draw a histogram and the mode
of the distribution.

Weekly .
| wages | 200-400 400-450 | 450-500 | 500-600 | 600-700 | 700-800 | 800-900 | Total
" (Rs)
No of

160 280 110 60 10 745
Workers B i

9. From the following data compute coefficient of mean deviation from median.
Marks | 0-9 | 10-19 | 20-29 | 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99

Noof | 5 | 4 8§ | 12 | 16 16 | 1 9 6 3
Students

10.. Construct Price Index Number using 1) Laspeyre’s  2) Paasches 3) Fisher's
Index number.

Commodity A B c D E F
Price 2 5 4 2 6
2014 Quality | 20 | 40 | 80 | 60 | 100 | 50
Price 3 6 - 5 3 18 10
2018 -
Quality 30 50 90 70 120 70
Contd...2
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11, The following are the sum of production in ‘000 quintals of a sugar factory.
Year 2002 | 2004 | 2006 | 2008 | 2010 2012 | 2014
Production 77 81 88 94 94 96 98

a) Fit a straight Line.
b) Graph the observed value and trend value.

c) Estimate the production in the year 2016.

9 teacher and 4 students. Ip

12, A committee of 8 members is to be chosen from
how many ways this can be done If
a) The committee contains exactly 3 students.
b) There Is to be majority of teacher
c) There are at least 3 students.
d) There are at most 7 teacher
13. Calculate Quartiles
Agein | 0 o5 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50 | 50-55 | 55-60
years
Noof 1 6o | 80 | 90 | 150 | 180 | 130 | 140 | 60
persons
SECTION - C
Answer any TWO of the following: (2x16=32)
14.a) For the following frequency distribution, draw a frequency polygon. (6)
‘"'(:[‘:)“" 300-400 | 400-500 | 500-600 | 600-700 | 700-800 | 800-900 | 900-1000 ’
Workers | 18 32 35 30 21 12 4 41
b) Represent the following data by a) Component bars
b) Percentage bars (10)
¢) Multiple bar diagram
Expenditure of Two families
i Monthly Expendlture(Rupees)
Item Family A Family B
Food 280 240
Clothing 100 60
House Rent 200 100
Education 60 30
Fuel 80 40
Miscellaneous 180
Rl e |
Cn)ﬂt“""3
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15. The mean and standard deviation of the salaries of the factories are provided
below: (16)
Factory No. of Employee Mean Salary |S.D of Salary

A - 30 Rs. 4800 Rs.10
B 20 Rs.5000 Rs.12

)i Find the combined mean salary and standard deviation of salary.

i) Examine which factory has more consistent structure so far as satisfying
its employees are concerned.

16.a Fit a linear trend by the method of least square. Estimate the sales for the year

2018. (8)
Year 2000 | 2002 | 2004 | 2006 | 2008 | 2010 | 2012 | 2014
Sale | 103 | 106 | 95 g o8 | 93 | 90 | 86
b Find 2 yearly moving average to the following data and comment. (8)

Year 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016
Production 42 37 28 33 34 33 30

SECTION-D
Answer the following: (1x10=10)
17. Following are the wages of the labourers:
Rs 82, Rs 56, Rs 90, Rs 50, Rs 120, Rs 75, Rs 75, Rs 80, Rs 130, Rs 65
» Find Qi, Qz, Ds and Pg;

2% e 3k ke o e ok ko ok
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SECTION - A
Answer any FIVE of the following: (5x2=10)
1. What is meant by Quasi = Contract?
2. Give the meaning of Latin teem ‘quid-pro-quo’.
3. What is dissolution of Firm?
4, What is a contingent contract?
5.  Mention two differences between LLP and Partnership firm.
6.. What is Corporate Veil?
7.  What do you mean by ultra-virus the company?
SECTION - B
(4x12=48)

Answer any FOUR of the following:

8. Define offer. State types and rules of offer.

9. Define coercion. Distinguish it from undue Influence.

10. What is Memorandum of Association? Explain the claus
Association.

11, Enumerate the salient features of LLP.

12. Explain different modes of discharge of contract?

13. Who is an unpaid seller? What are his rights?

es of Memorandum of

SECTION - C

Answer any TWO of the following:
sideration. Explain the legal rules regarding lawful consideration.

(2x16=32)

14. Define con
15. Discuss the agreements opposed to public policy.

16. Briefly explain the conditions and warranties implied by law in a contract for sale

of goods.
SECTION - D

Answer the following: (1x10=10)

17. State types of delivery and any five rules of delivery.

e o o o K ok K ok kR kK
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LUE EDUCATION

FOUNDATION COURSE IN INDIAN CONSTITUTIDN AND VA
Max. Marks: 100

Time: 3 Hours
PART - A

INDIAN CONSTITUTION

1. Answer all the following questions in three sentences each.
(1x5=5)

Each question carries one mark:

1. Name the plan under which Constituent Assembly was set up in India.
2. Which part of Indian Constitution deals with Fundamental Rights?
3. State the article of Indian Constitution which deals with the amendment

procedure.
4, Distinguish between Council of Ministers and Cabinet.

5. What is meant by Judicial Review?
1I. Answer any FIVE questions in about a paragraph each. Each question
(3x5=15)

carries 3 marks:
6. State the sources of Indian Constitution.

7. After the death of Sanjay Gandhi, Maneka Gandhi wife of late Sanjay

Gandhi and her mother in law Indira
had a dispute. Maneka Gandhi wanted to visit fo

applied for a passport. A passport was issued to he

passport Act 1967.

Gandhi then the prime Minister of India
reign countries, and so
ron 1-7-1976 under the

sport office, Delhi wrote a

After the passport was issued, the regional pas
g her that the Government

7-1977 to Maneka Gandhi, informin
rt under Section 10 (3) (c) of the

d asking her to surrender her

letter dated 2~
of India decided to impound her passpo

passport Act 1967 in the public interest an
passport in their office. Maneka Gandhi filed a writ petition before the

Supreme court. Explain this case in the light of Right to Equality (Article 14),

Right to freedom (Article 19) (1) (a), 19 (1) (a) and Right to Life and Liberty

(Article 21).

8. Which of the following is not included in the 111 part of the Constitution of

India? State reasons.
~a) Righ' to Equality
b) Right to Freedom
c) Right to Vote
d) Right agalinst Exploitation.

at is meant by Uniform Civil Code?

9. Wh
Contd...2
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100 What is meant by ‘Double Jeopardy?

10 M Shakti was arrested by the police aut!

» -, . "\
custody and the police did not hook @ charg ;
shakti in ndlan ¢

W "]‘“; g
sheetl

Descridbe the remedy avallable to M&

tender application for such a remedy?

INX. Answer any EIVE questions in about 10 sen
question carries 5 marks: od d

130 Explain the preamble of Tndian Constitution and &
- : i Ac State P\"t:\'!

13, State the classification of Directive Principles of St ote X

14, State any five fundamental duties of Indian citizen,

1S, Examine the role of speaker in Lok Sabha.

16. State the Legislative power of the President of Tndia.

17, Evaluate the role of Trade Unions as lobbying institution.

18, Explain SEB! and Competition Commission of India,

IV. Answer any ONE question in about 20 sentences ench. Each

question carries 10 marks:

19, Explain the powers and functions of the Prime Minister of India,

20. Explain Right to Freedom and Right to Equality of Indian citizen.

V. Answer any ONE question in about 40 sentences each.
question carries 15 marks:
21, Explain the salient features of Indlan Constitution,
22. Enumerate organization and functions of Vidhana Sabha,
PART -~ B

(VALUE EDUCATION)

tences each.

page No, 2

He was detained In the
against Mro Shaky,

anstitution. Who can

Each

(5x5w=25)

lscuss Its sianificance.

(10x1=10)

(15x1=15)

VI. Answer any FOUR questions in about 8-10 sentences each. Each

question carries FEIVE marks: (5x4=20)
23, Trace the institutional legacy of St Aloysius College.
24. Analyse lohar Window as a technique of self awareness,
25, Explain the need for right self esteem,
28. What is spiritual quotient? Explain,
27. What is meant by critical thinking? Explain.
28. Write a note on thought power.
VII. 2:f:;r rg\fﬂ %%‘Es ?uestion in about 20 sentences. The Question
(10x1=10)

29. Explain the importance and elements of Self-discipline

30. What are life skills? Explain its importance and components

FEXB LR ER R Ry

|
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ENGLISH

Time: 3 Hours Max. Marks: 100

UNIT - I (PROSE)
I. Answer the following in a word/phrase/sentence each: (5x1=5)
What happens when the people of a nation are in confusion and distress?
Where was Kalam’s house located?

Who complained that ‘wealth accumulates and men decay’?
What is the unspeakable wrongness that the author talks of in the story ‘A

g N e

Hanging'?
5. Name the two men Leacock introduces in the prose ‘Self-Made Men’.
II. Answer any FIVE of the following in about 150 words each: (5x5=25)
1. Tocqueville states that patriotism ‘is in itself a kind of religion, it does not
reason, but it acts from the impulse of faith and of sentiment.” Do you agree

or disagree with this statement? Provide reasons.
2. 'The child is the father of man’. Elabcrate this idea in the light of Kalam's

growth to adulthood.
3. How does Shaw use the analogy of dress-making to discuss how capitalism

has restricted people’s skills?
4. What impression of the narrator do you form by the end of the essay ‘A
Hanging’? Why?
5. Comment on the author’s opinion of Americans and the kind of patriotism
they display in the essay 'On Patriotism’.
Piety and discipline are the two major features of the life that Kalam's
parents lived. Explain this idea with examples.

7. Describe how Leacock introduces the two men sitting in a restaurant.
ST.ALOYSIUS COLLEGE LIBRARY
MANGALORE-5750043

(5x1=5)

UNIT - II (POETRY)

III. Answer the following in a word/phrase/sentence each:
In the poem ‘Night and Death’, who does ‘Our First Parent’ refer to?

2. When the Tiger was created, what did the stars do?
‘Rage, rage against the dying of the light’. What does the underlined phrase

mean?
What did men from the hills get with them in the poem ‘A Hot Noon in

Malabar’?

5. Name the poet of the poem 'If".
Contd...2
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IV. Answer any FQUR of the following in about 120 words each:
(4x5=20)
1. Explain how cosmic pattern is connected to the pattern of human life In the
poem ‘Night and Death’,
What Image of the tiger do we get from the poem ‘The Tyger'?
Analyse the images used in the poem ‘Do Not Go Gentle Into That Good
Night'.

4. Comment briefly on the treatment of time In the poem ‘A Hot Noon in
Malabar’,

5. Explain the theme of night and death in the poem ‘Night and Death’ and

bring out the connection between the two as depicted by the poet.

Comment on the appropriateness of the title of the poem “If'.

UNIT - III (SHORT ~ STORY)
V. Answer any THREE of the following in about 150 words each:
(3x5=15)

1. Discuss the tone of the story ‘Getting Married’. How does the narrator bring

out this tone?

Why does Paham buy more and more land? What does this signify?

Do you think Celia and Ronald will make an ideal couple? Justify your
answer,

4. What is the significance of the argument that the two sisters have in the
story ‘How Much Land Does a Man Need? How is it related to what happens
later?

5. The statement from the conclusion to the story ‘Getting Married’, \.... There’s
too much “arranging” and settling” and “fixing” about the thing for me’,
aptly describes the narrator's attitude to life, Discuss,

UNIT - IV (Grammar and Writing Skills)

VL. A. Fill in the blanks with the appropriate idioms and phrases from the
ones given in brackets: (6x1=6)
(Bell the cat, turn the clock back, come to a head, left out in the cold,
:Jnn::;- :::::s::ltliﬁlt:tl::’t?::::hif;::)tunnel, hit the sack, throw a Spanner

1,

After a heated argument, Matters had ___ when the junior officer threw a
shoe at the manager.

2. His name is after his assistant announce

d that he must have taken a
huge bribe to get the bill passed,

It has been a hard day’s work and You should

4. The convict's is desperate lies —_ Wwith the judge, who went with the
evidence severely against him,
The prisoner saw no

and was convinced he wo
6. He couldn't

uld be hanged.
— and bring back the dead.

Contd...3
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B. Analyse the following graph. Write a report in about 150 words:
(1x6=6)
Sales of different types of cameras
Other
Advanced
Digital Camera

Full frame Camera

SLR digital———
Camera
Independent
Film maker
Camcorder

ST.ALOYSIUS CULLECE LISRARY
MANGALORE-575003
Slim digital Camera

C. Write a dialogue in about 150 words in 5 turns each: (1x6=6)

You want your Principal to permit you to celebrate fresher’s day in your
college. Write a dialogue between you and your Principal.

D. Develop a story based on the hints given below in about 150 words.
(1x6=6)
A sailor took his pet monkey with him, to sea trip terrible storm
overturned ship, a dolphin saved the mankey's life took monkey to
an Island . Monkey said that he was a prince . Dolphin understood
his lie ____ left monkey alone on the island.

E. Read the following passage and answer the questions. Answer in a
word/phrase/sentence for 1 mark questions and in 2 or 3 sentences
for 2 marks questions. (6)
The culture of nuclear families is In fashion. Parents are often heard
complaining about the difficulties in bringing up children these days. Too much
of freedom in demand, too much Independence, overnight parties, excessive
extravagance, splurging pocket money, no time for studies and family, all this
is a common cry of such families. Aren't parents, themselves, responsible for
this pitiful state? The basic need of a growing youth is the family, love,
attention and bonding along with moral values. One should not forget that
charity begins at home.

Only the reasonable demands need to be fulfilled, as there are too many
expenses to be met and too many social obligations to be taken care of by the
parents. Earlier there never existed the concept of old-age homes. There was
a deep respect for the family elders, and love, care and concern for the
youngsters. Even the minor family differences were solved amicably in the

joint families.

i. Mention any two major common concerns of a nuclear family. (1)
ii. Who, according to the passage, is responsible for them? (1)
iii. Explain the expression ‘Charity begins at home'. (1)
iv. Find out the word in the passage which means The pleasant and friendly
manner in which a difficult situation is dealt with. (1)
v. Describe the atmosphere in joint families. (2)
o ok ok ko ok ok ok
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HINDI
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(6x1=6)

I ¥) TF O 7 Iw e
L &l & Gt 9g 2 2
2. T S wed € 2
3. T & gitvmr e |
4. g Gt & A St § 2
5. fwls g ffd Fed © 2
6. geraTa Hal & fog Serer T |
am) T & weAl & S R
1. T e &t oRwTeT 3T SEe Wl i Wil §HssT |
2. =Nt uftarer ferast sed 9 I Seewr alkd Rl |

3. G T ufturer & | IS 9 @ e FHART |

ST.ALOYSIUS COLLEGE LIBRARY
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(6x1=6)

(2x7=14)

IL 3) U& 9reg | S fofa

. e <t wfer i |
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St Aloysius College (Autonomous) ‘

Mangaluru
B.A. /B.S¢./B.Com./B.B.A./B.C.A, - Semester I -Degree Examination

October - 2019 1SiUS (0 €GE Lisi ‘14
T.ALOTSILS LULL ipialt
ADDITIONAL ENGLISH ST e 575002

CROSS CULTURAL TEXTS - |
Time: 3 hre, Max Marks: 100
SECTION A: Prose

I. Answer the following in a word.
1. In "The Adventure of the Speckled Band®, Julia
twin sisters, (True/False).
2. The girl and the boy of " The Huran Phonograph”, met in 1961 and the story
begins in when Mr, Armstrong landed on the moon.

3, The narrator's mother in “A Waterfall of Horses” worked for ;
wias banned during

(125=5)

Stoner and Helen Stoner were

4, The short story collection by Shashl Tharoor called
the emergency.

Pankaj Mishra in
hosts a fascist Ideology despite its major role in the

11. Answer any FOUR following questions in about 100 words
each:
1. Elucidate on the class divide present in "A Waterfall of Horses”,
2. Holmes Is known for his uncanny observation skills. Elucidate with reference to

*The Adventure of the Speckled Band”,
comment with reference to “The Human

his viewr on refugee crisis comments on how Hungary now
____in 1989,

LU

(4%5=20)

3. “Sclentists are privileged exceptions”
Phonagraph”,

4. What according to Pamuk is important for the development of Europe?

How does Tharoor reconcile his faith in India despite living outside India for

most of his adult life?

6. Write a short note on the narrator in “A Waterfall of Horses”.

111. Answer any ONE of the following in about 250 words

each:

1. "Violence does In truth, recoll upon the violent, and schemer falls into the pit
which he digs for another” Comment with reference to " The Adventure of the
Speckled Band”,

2. "She Is an object of fascinat
unremarkable as this gilin”.
Phonograph”.

3, How did the people of Pomerang chase away the bilate?

How did Holmes solve the murder mystery of Julia Stoner in
the Speckled Band”?

l...."‘.

(1x10=10)

lon perhaps one day she too will become as
Comment with respect to “The Human

“The Adenture of

SECTION B: Novel
1v. Answer the following in a word. (1x5=5)

Hep and Bok have only time to repay the money.
gets Involved In an arms deal for a militant group where he lost fifty

o ——
lakh rupees.
contd...2
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3.

4,

S
V.

VII.

VIII.

Is the basslst from Assam who plays In the "The wedding Plan”.
Jayden was Kidor's first child, the second was 2 girl called

The plot of the novel is set in , the Scotland of East.
Ans::er any ONE of the following in about 250 words (1x10=10)
ecach:

Elaborate on the elements of Extortion, smuggling and arms desdiag Toesidesn
the ‘The Girl from Nongrim Hills'.

Write a short note on ‘Bok’ in the Girl from Nongrim Hills:
How s the protagonist of the girl from Nongrim Hills self destructive?
SECTION C: Poetry

Answer any TWO of the following in about 100 words
each: .

(2x5=10)

How does Agha Shahld All show his immense love for his country? Answer with
reference to “Postcard from Kashmir”,

What Is the reward for the bravery shown by the girls father in “The Orphan
Girl"?

Glve a brief description of the biblical allusions used in “All Along the
watchtower”. '

How does Meena Kandaswamy give women the power to militate in Ms.
Militancy?

Annotate any TWO of the following in about 100 words (2x5=10)
each:

Kashmir shrinks Into my mailbox
My home a neat four by six inches.
I always loved neatness. Now I hold
The half-inch Himalayas in my hand.
No tear is so bright as the tear that flows
For erring woman’s unpitied woes;
And blest be for ever his honoured name
Who shelters an orphan form sorrow and shame!
No reason to get excited
The thlef he kindly spoke
There are many were among us
Who feel that life is but a joke
But, uh, but you and I, we've been through that
And this is not our fate
So let us stop talking falsely now
The hour’s....
SECTION D: Grammar

Report writing: (1x5=5)

The NSS club of St. Mary’s College, Mangalore organized a cleanliness drive at

central market, Mangalore. Write a report in about 200 words on the camp for
your college newsletter. You are John/Josna,

7

Contd.+?
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IX. Idioms and Phases:

(Ehc!ose the appropriate idiom/phrase from the list below to
:{ fill in the blanks.
(Pain in the neck, head over heels, round the clock, beat around the bush, dime
a dozen, an arm and a leg, feel under the weather)
for the family servant Alice.

but to come to the point.

(]

(1x5=5)

The wedding planner fell
The manager told his employee not to
I find reading books a real

The prisoners are monitored
escape.

b 5. Eggsare _ _ after the episode of Bird Flu.

1 X. Restaurant Review: (1x10=10)

1. Your friend is requesting you t
4 place in town to the local news

words.

% XI. Advertisement:
1. Mangalore Ladies Hostel needs the service of a warden. Draft a classified

advertisement for publication In a local daily asking deserving candidates to
appear for a walk-in-inteview on 8 and 9 November 2019 from 10 am to 1 pm

at the YMCA Hall, City Arcade, Bejai, Mangalore. Contract No. 9980414234.

Pwon e

by the officers. There is no way to

o send the restaurant review of the newly opened
paper. Write the review in not more than 250

(1x5=5)

&
XIL. ~Giving Directions:  §T,ALOTSIUS COLLEGE LIBRARE (1x5=5)
MANGALORE-575003
X Look at the map of the town centre and answer the following questions.
Post
office Traln Station
Green Street g
Pet [ Bank
shop
Flower Museum Cake shop
shop o
v Library | & bookstore
3 i
v | Yellow street w
g Travel e Department
2 agent g store
9
o
1]
High Lo
school 1|
Red street ‘2
Coflee Supermarket Fish Hospital
’7 shop shop L_‘
i Home
i
o the bank. On his way he has to

1. Give directions to Sunil who Is at home to go t
go to the hospital to collect the medical report.

ok ok kK kok KKK
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St Aloysius College (Autonomous)
Mangaluru

B.A./B.Sc. /B.Com./B.B.A/B.C.A Semester I — Degree Examination

October - 2019

FRENCH
Max Marks: 100

Time: 3 hrs.

A

DB =

o L =

bR e —

I’

. Complétez avee EN, Y, N'EN PAS

. Complétez avee le comparatif

(5

. Complétez avee le futur simple

En 2025, les hommes (habiter) sur Mars.

En 2020, Pai (parler) toutes les langues.

En 2023, nous (travailler) deux jours par semaine

En 2050, Luke Skywalker et Han Solo (passer) leurs vacances sur Terre.

Demain je (voyager) en voiture solaire.

ST.ALOYSIUS COLLEGE LIBRARE
MANGALORE-S?SOOS

J’ai des lunettes, mais ma fille
Vous étes chez vous jusqu’a 8h ou jusqu’ a 9h 7 Je
conduit souvent.

suis jusqu’a 9h.

Léa a une voiture, elle
Max a de la chance au jeu. Moi, je

Vous allez & I"aéroport ¢n bus ou en taxi? Je vais en taxi.

Les cerises ct les nectarines (délicieux +)

1l et son frére gagnent (-)

Sylvie court (-vite) Ronald

Les Marocains ct les Indiens boivent du café (=)
Le fauteuil et la chaise (+ confortable)

. Mettez au passé¢ compose

Pierre Boulez nait le 26 mars 1925, Il prend des cours de piano a 7 ans. En 1943, 1l
s'installe & Paris. Au Conservatoire, il fait la connaissance d’Olivier Messiaen, son
professeur. Pendant 10 ans, il est le « chef de musique » d’une compagnie de thédwe. 1l
débute sa carricre de compositeur en 1947, 11 regoit de nombreux prix et devient un
compositeur et un chef d'orchestre s célebre dans le monde. Il meurt le 5 janvier 2016.

Donnez deux phrases comme exemple qui correspondent aux clauses suivantes  (4)

1. Si+ présent+ futur simple
2. Si+ présent + impératif

(6)

Eerivez Pimpératif des verbes suivants
1. Eue 2. Avoir 3. Savoir

Contd...2
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G. Répondez aux 5 questions en 10 lignes minimum ikt 30)
L. Parlez d'un(e) scientifique.

2.

Présentez le Président frangais

3. Que signific I'école pour demain selon vous?
4, Parlez du chiteau de Chambord

5. Déerivez votre vie a Saint Louis (SAC)

0.

Expliquez le systéme d’éducatif en France.
7. Parlez de I'économie en France.

vacances.,

o . . nicres
IL Eerivez une lettre & un(e) ami(e) pour parler de vos det (10y

; ; y entreprise frangaise. Rédi, .

I Vous cherchez un travail comme journaliste dans une eIt ul{":'-"
: (

un CV avee une lettre de demande d’emploi. )

J. Dialoguez trouver du fravail), 1]
oy - {1 er avi . v
Votre ami va passer un examen (ou un enfreficn pout st

- b - 1
pas sitr de lui. Vous le rassurez. (10)

ou )
agas our s .
Vous &tes avee un(e) ami(e). Vous entrez dans un nng};ﬁ\tl P Il .l.Chctm un
. Vous choi 7. Voue
vétement. La vendeuse vous accucille. Vous demandcz conscl sissez. Voyg

essayez le vétement, cte...

K. Lisez le texte et répondez aux questions ' (10)
La petite araignée habite dans une toile. Elle a tissé la tmlc' dans un chamlp- 1 )’ des
tournesols dans le champ. La petite araignée a huit pattes et six yeux. La petite araignée
mange des inscetes tells que des mouches et des fourmis. E].le les a.llra!ac dans sa toile,
Chaque jour elle tisse une nouvelle toile avec de la soie. La soie d’araignée est trés solide.
Savez-vous ce qu'elle fait de sa viclle toile ? Elle a roulé et clle la mange. Toutes les
araignées fabriquent de la soie. Toutes les araignées ne tissent pas de toiles. Quelquefois
les araignées fabriquent des abris pour se cacher. La petite araignée a peur des gens, Elle
ne veut pas faire de mal aux gens. La petite araignée veut simplement vivre tranquille ¢t
manger des bons plats de mouches.

Les questions (4)
1. Ou habite-t-clle la petite araignée ?

2. On la petite araignée tisse sa toile?

3. Qu'est-ce que la petite araignée mange ?

4. Pourquoi les araignées fabriquent des abris?

Dites Vrai ou faux 3)
1. Toutes les araignées tissent des toiles.

2. La petite araignée mange des fourmis.

3. Elle fait de mal aux gens.

4. La petite araignée a huit pates.

5. La petite araignée est un animal,

6. Toutes les araignées ne fabriquent pas de la soie.

Trouvez dans le texte 0)

1. Lesynonyme de a) fort b) paisible,
2. Les deux noms des insectes
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Time: 3 Hours

I.

1.

II

10.

(2019 Batch onwards)

St Aloysius College (Autonomous)
Mangaluru

B.A./B.Sc./B.Com./B.B.A./B.C.A Semester I — Degree Examination

October - 2019

MALAYALAM
Max. Marks: 100

GEMMI OEMEO NIOG: SO T3 QEMONAY D) S (5x2=10)
S §YM) MTSHOMBB (OBY@o @)eaieinian] ausnorljomearlom ?

ANMAINMEROHE! & LDIW AUOMONBROB RINIG MBS0
QOSHUMVMNS0 ngeERlam emalsie nm MVIO@IOS coloB @I

anm)E0Md @S anjaslowas?  §T.ALGTSIUS CulLEGE Lidanki
Ao Mo R 54 5003

euaImMmowadas aluoynilam niladeenmElnumamam) O ?

lslamdn amog) &leemas am @oajnlad cuimie AlSleno}aol@osm

AGOM) AIN@OMT &0PEMODTD ?

@ uolmipemilenoom c20eil maysqsomearlam 2
monisMEm1andn rumasne UMV N0 NIEMBOEH) S (4x5=20)
eoemim] mee anmmeas)eniodleno

nQOMIAS SelemO al}em @)6n2oo

MLO@E o MU0 IN0G@IeEI0M) 6D

@M 1N @UM@MARINN) GO lUBIM-

oooosley M OnI0Y eSS MIBR@o.

agenlen) allslaflasiomy @leyeam] agerlmalamm)?emom @)slynle
UE)Om1e@I?

@oaj)nfln) 0 OBOE@OM]0 EMOEHHENS.MDAUN) SBOTInLI
edN00.0ee1fl6ER) e lesnds)..

A0BSB U AlIMIM.AGEJoNTRILe BE0 MUDRED BENM agEaElem cai)o?

Contd...2

Scanned with CamScanner



G 1511

1I1.
11,

12,
13.

14.
Iv.
15.
16.

17.

18.

19.

20.

21.

22.

page N 0.2

3x10=30)
a1mepEmIm) EamelanEwI| @llwosm OO (

Noo&Blo
BIOES®N@ mlan)o Ui anEleeles) @1C]y &LGDJEJW‘%” e
@RMOTOIVoRNIERS 0 NUC1Es) S

anmyeom ime® @Ay EOaOILEmONDO afluosooea®

a6mam
‘0T agam UBQMOETIAMO (AIEWINGTEIEE o i@ &2
(M@ ISHDHUT AYHTRIO0?

&

EHLAUMBMOIVOLAS SEMB@DIm) BSONI2) ruoRnlo A8 -
x —

oM@ M} a}MA0EDIM &l@onm palm o180

91 @B
ANME06MN@Ye MIM@ESW]e (MVeBAHEME (20U 1@ O10TY 3

oman 1
‘afvoinilao@ao® oyesa’ (o laoaileam ©ony @ COOBY

@O0 6RUT (U SONIBN) S

salom
QUBYMOBSTRELOS (AIBWOUNAIo (VOISR @A le3 nG)

M Sloleamy?

mldesuoam)uclazeymyd (5 x2=10)
@Bl agamam ©ROANEEMMVNN D0 nfluclen)e
aflitianla cruaocroo mdem @ 1o &
AnYEnNO, o) e0mnd
oo eeEes1c o/ lo) o)

1. no® @oslflends cz20efl ©SM A BETI@OH)0.
2. pO@M NUy@yrano

n_llrﬁﬁmbﬁﬂ@, mm;@smw{lcm agomlou AlWOBOOSH)
Q10> 5O 1@ (BN B>

&oeInjosnd, nGSIEMaIoSe

s o i e ok ke e ok b ok ok o ok o ok kool ok ok

|

Scanned with CamScanner



G 301.1 Reg. No,

St Aloysius College (Autonomous)
Mangaluru
B.Com. Semester I- Degree Examination
October- 2019
FINANCIAL ACCOUNTING - I

Time: 3 hrs. Max Marks: 100
SECTION - A

Answer any FIVE of the following. (5x2=10)
1. What is Suspense Account? When is it prepared?
2. What is Cost Concept?
3. Give the meaning of capital receipt with an example.
4. List any four Accounting Standards. ST.ALOTSIUS CULLEGE LIBRAK)
5. Give the components of cost of goods sold. MANGALORE-575003
6. What is the need to prepare Bank Reconciliation Statement?
7. What is two sided error? Give an example.

SECTION-B
Answer any FOUR of the following. (4x12=48)

8. What is Accounting Standard? Explain Accounting Standard 1 and 3.
9. What is IFRS? Explain the need for convergence with IFRS.
10. Prepare Manufacturing Account from the following:

4
1. | Opening Stock:
a) Raw material 32,000
b) Work-in-Progress 12,000
c) Finished goods 25,000
2. | Carriage 2,200
3. | Carriage on sales 4,500
4. | Sale of scrap 4,000
5. | Purchases 80,000
6. | Manufacturing wages 12,000
7. | Fuel 2,000
8. | Salaries 24,000
9, | Bad debts 3,000
10. | Depreciation(On Machinery) 1,500
11. | Repairs to plant 800
12. | Factory expenses 3,200
13. | General expenses 5,000
14. | Motive power 3,500
15. | Depreciation on furniture 1,500
16. | Discount allowed 1,000
17. | Factory expenses due 300
18. | Materials used for personal use 2,000
19. | Closing stock:
a) Raw materials 24,000
b) Work-in-Progress 10,000
¢) Finished goods 30,000

Contd...2
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11. From the following, prepare the Income and Expenditure Account of
Mangalore Club for the year ending 31 March 2019.

Receipts and Payments Account ——
Receipts T payments ___;56—
To cash in hand 1,125 | By News papers ____ ——&q"
To Subscriptions 2,900 BLP:(i‘It__________-—————-—%"s"’
To Tournament Fund 750 | By Salary _];,_E_!Q_Q_
To Life Membership fee | 1,000 | By Office Expenses | 1,200
To Entrance fee 100 | By SM}EI@E————-.ELEE%

To Donation for 1,500 | By Tournament 4s
Building expenses 555 |
To sale of news papers 50 | By cash balance 'i,_B_g__
7,425 [ 2425

Adjustments:
a) Outstanding subscription on 31.03.2019 T 400 and on 31.03.12018
¥ 450.

b) Subscription received I 100 for the year 2019-20.

¢) Sports materials were valued on 31.03.2018 at ¥ 550 and on
at ¥ 1090. )

d) Office expenses include Y 150 for 2017-18 and ¥ 200 is outstanding on
2018-19.

e) Entrance fees are treated as revenue income.

31.03.2019

12. The books of Sharma did not agree, the accountant transferred the amount of
7296 being excess of the debit side total to the Suspense Account.

The following errors were subsequently traced:

1) Sales book was overcast by ¥300.

2) Purchase of furniture worth 3615 was passed through the purchases
book.

3) An amount of I55 received from Thomas was posted to his account as
%550.

4) Purchases returns book total on a page was carried forward as Y221
instead of I112.

5) A cash sale of Z1,235 though entered in the cash book was posted to
the sales account as ¥35.

Rectify the errors by means of journal entry and prepare the Suspense
Account.

13. The cash book of Mr. Gopal shows a balance of ¥8,364 on 31-12-2017, but it
!
does not agree with the balance as per Bank Pass Book. On scrutinizing, you
find the following discrepancies. '
1) On 15" December, the payment side of
by 2100. y the cash book was undercast

2) A cheque for ¥131 issued on 25" Decemb
e er 2017 was taken in the cash

3) One deposit of T150 was recorded in the ca "
bank column. sh book as if there was no

contd L1 I3
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4) On 18" December 2017, the debit balance of 21,526 as on the previous
day was brought forward as credit balance.

5) One cheque outgoing for 350 was recorded twice in the cash book.
6) Dividend of 250 collected by the bank has not been recorded in the

NS ST, ALOTSIUS COLLEGE LIBRAR
MANGALO RE-575003
SECTION - C
Answer any TWO of the following. (2x16=32)

14. From the following Trial Balance of Mr. Akbar, prepare Trading and Profit and
Loss Account for the year ending 31-03-2018 and a Balance Sheet as on that

date.
Name of the Account Debit Credit -
() )

Capital 1,00,000
Plant & Machinery 25,000
Depreciation on Machinery 2,500
Repairs 1,500
Wages 30,000
Wages Outstanding 2,000
Salary for 11 months 5,500
Income Tax 1,000
Cash 2,500
Building 80,000
Depreciation on Building 4,000
Purchases and Sales 1,50,000 2,50,000
Debtors & Creditors 40,000 22,500
Bills Receivable and Bills Payable 15,000 8,000
Discount 4,000
Stock on 1-4-2017 35,000
Interest Accrued 2,000
Overdraft 4,500
Commission 5,000
Bad Debts 2,000

3,96,000 3,96,000

Adjustments:

1) Closing Stock ¥35,000.
2) Write off further Bad debts 32,000 and maintain 5% for RBD.
3) One month’s salary was outstanding.
4) Goods costing Y500 was used by the proprietor.
5) Goods of the value of 3,000 have been destroyed by fire and the
insurance company has admitted the claim for ¥2,400.
6) Bills receivable dishonoured ¥2,000.
15. From the following particulars prepare a Bank Reconciliation Statement of XYZ
Stores on 30" September 2018.
a) Overdraft as on 30-09-2018 as per Pass Book ¥50,000.

b) Cheques deposited into Bank but not recorded in the Cash Book ¥500.
Contd...4
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€) Cheques received and recorded in the bank column but not sent to
bank for collection ¥5,000.

d) Several cheques totalling ¥75,000 were drawn in the last week of JUI'“?&-1
Out of these, cheques totalling only 745,000 were cashed before 30
September.

f

e) Out of 745,000 cheques sent to Bank for collections, cheques of the
value of 217,500 were collected and credited by the bank in October-

f) On 20" September 2018, the credit side of the bank column of the
cash book was under cast by ¥5,000.

g) Fees of 21,250 paid directly by the bank was not recorded in the cash
book.

h) In the cash book bank charges of ¥150 was recorded twice, while
another bank charge of ¥750 was not at all recorded.

i) Interest of T750 was charged by the bank but was not recorded in the
cash book.

j) The credit balance of 213,000 on 15" September 2018 was brought
forward on 16" September as debit balance in the cash book.

k) Dividend collected and credited by the bank amounted to I500.
1) A wrong debit was given in the bank pass book ¥7,500.

16. The receipts and payments account of Navkar Football Club for the year
ended 31% March, 2018 was as under:

Receipts Payments T
To balance b/d By Purchase of
(1-4-2017) 48,000 equipments 80,000
To Subscriptions By Tournament Fees 10,000
received 2,46,000 | By Affiliation Fees 2,000
To Interest 2,000 | By Rent of Playground 5,000
To Sale of Furniture 10,000 | By Refreshment
To Donations for Club Expenses 4,000
Building 60,000 | By Travelling expenses 30,000
By Purchase of Balls 20,000
By Investments
Purchased at face
value 1,00,000
By Salary 12,000
By Miscellaneous
Expenses 8,000
By Balance c/d
(31-3-2018) 95,000
- =,90,000 3,66,000

ek -
prepare the Club’s Income and Expenditure account for the year ended 31%
March, 2018 and the Balance sheet as on that date, after taking the following
information into account:

Contd L] l'5
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a) The subscriptions received include ¥ 10,000 outstanding subscriptions of
the year 2016-17, Subscriptions for the year 2017-18 amounting to
% 16,000 is still outstanding from members. Some members have paid
subscriptions for the year 2018-19 amounting to ¥ 8,000 which is
includ inti i
ed in the subscriptions received. ST.ALGYSIUS CULLEGE LIBRARY

b) Interest accrued but not received ¥ 500. MANGALORE-575003
c) The book value of the furniture sold was ¥ 14,000.

d) The rent of playground: Z 6,000 and salary: Rs. 5,000 of the year
2017-18 are still outstanding and rent of playground of the year 2016-17:
% 1,000 has been paid during the year.

e) There is a stock of balls with the club valued at ¥ 4,000 as on 31% March,

2018.
SECTION - D
Answer the following: (Compulsory) (10)
17. Explain Rectification of Error and types of errors.

EEE L L L EE L
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St Aloysius College (Autonomous)
Mangaluru

B.Com.(ACCA) Semester I- Degree Examination
October-2019

INTERNATIONAL FINANCIAL ACCOUNTING

Time: 3 hrs. Max Marks: 100

Section A
Answer any five questions out of seven, carrying two marks each.
1. State the qualitative characteristics of financial statcments.

(5x2=10)

2. Jacob bought new machinery on 1 January 2012 for $8.000. It’s useful life was
estimated to be five years, after which its second-hand value is expected to be $2.000.
Calculate the annual depreciation charge using straight-line method.

3. Elijah started the month with cash at bank of $1,780. What was the balance carried
forward after accounting for the following transactions in June?
(1) Elijah withdrew $200 per week to cover living expenses.
(2) A customer paid for goods with a list price of $600, less trade discount of 5%.
(3) An amount of $400 was reccived from a credit customer.
(4) Bankings of $1.200 from canteen vending machines.
4. With reference to the accounting equation. state whether cach of the following
statements is true or false.
a. Business assets will always equal business liabilities
b. Business assets will always exceed business liabilities
¢. Business asscts include proprietor's capital e e AT T IRDADY
d. Business liabilities inchldc I]))roprictur’rcupilal s‘ﬁh:j&h:hs,\:,z}lgg'

5. The petty cash balance at 30 November 2019 was $25. The following transactions

occurred during November 2019:
a) Refreshments were purchased at a cost of $7.25.
b) Travel expenses of $12.75 were reimbursed to an employee.
¢) The cleaner was paid $15.

What was the petty cash float at 1 November 20197

6. Allister's payables’ ledger control account has a balance at 1 October 2018 of
$34.500 (credit). During October, credit purchases were $78.400, cash purchases were
$2.400 and payments made to suppliers, excluding cash purchases, and after
deducting settlement discounts of $1.200, were $68,900. Purchase returns were
$4,700.

What was the closing balance on the payables™ ledger control account?

7. In times of rising prices, the valuation of inventory using the first in, first out method.
as opposed to the weighted average cost method, will result in which ONE of the
following combinations? Cost of sales/ Profit/ Closing inventory

A Lower /Higher /Higher
B Lower /Higher/ Lower
C Higher /Lower/ Higher

ID Higher /Higher/ Lower
Contdll.z
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Scetion-B
Answer any four questions out of six, carrying 12 marks cach.

i 5. During
8. Phillips has closing inventory of 10 units at a cost of $6.0 per unit at 31 [?Cccf“b"r 201

the first week of January 2016, Phillips entered into the following transactions:
Purchascs-

Ist January — 7 units at $6.50 per unit

Sth January - 6 units at $7.00 per unit

8th January — 8 units at $7.50 per unit
Philips sold 7 units for $12.50 per unit on 7th January,
Required: ing using the
(a) Caleulate the value of the closing inventory at the end of the first week of trading using
following inventory valuation methods:

(1) Periodic weighted average cost

(2) Continuous weighted average cost. - t
(b) Prepare the statement (EI profit or ﬁ)ss (sales revenue, cost of sales, gross profit) for the firs
week of trading using cach method of inventory valuation.

(4x12=48)

9. The following information is available for the business of Tvan Tombs, a bookseller:
(a) Started business with $10,000 in business bank account
(b) Made purchases for $200 cash
(¢) Further purchases for $400 on credit from Moore
(d) Paid rent of $1.000 cash
(e) Bought stationery for $60 cash
(f) Bought an old van for $4,000 from Petros promising 1o pay later
(2) Sold rare books to Greene for $1.000 cash
(h) Paid Moore $140 cash
(i) Sold book on credit to Doyle for $140
() Bought more stationery for $40 cash
(k) Paid cash of $150 for motor expenses
() Paid Petros $1.000
(m) Received $100 from Doyle.
Required:
Show how these transactions would be recorded in the led ger accounts. Close the relevant
accounts.

10. Coco acquired two non-current assets for cash on 1 August 2015 for use in her party organizing

business:

= a25 year lease on a shop for $400,000

- achocolate fountain for $8,000.
The fountain is to be depreciated at 25% pa using the reducing balance method.
A full year of depreciation is charged in the year of acquisition and none in the year of disposal.
Show the ledger account entries for these assets for the years ending 31 October 2015, 2016 and
2017.

11. The balance in Jovanovich's cash account at 30 June showed an asset of $1,660: his bank
statement showed a balance of $450 but he was unable to determine from the sla{c:ne;lt whether
the balance was in hand or overdrawn. On reconciling the cash account b disoon el
following: covers the

a. The debit side of the cash account had been under cast by $200.

b. A total on the receipts side of the cash account of $2.47

$4,275. 475 had been brought forward as
c. A cheque received by Jovanovich for $220 had been dish .

it B, onoured (i.c, refuseq by the
d. Bank charges of $24 and standing orders totaling $160 .

" had beep omitted from the cogh
¢. Unpresented cheques totalled $520 and uncleared deposits $626

Required: *

(a) Write up an adjusted cash account.
(b) Prepare a bank reconciliation statement at 30 June,

Contd...3
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12. The statements of financial position of Paniel at 31 March 2017 and 2016 were as follows:
31 March
Reference 2017 2016
to notes $000 $000
Non-current assets i 3,060 2,140
Less: accumulated depreciation (840) (580)
2.220 1,560
Net current asscts il 1,570 1.520
3,790 _ 3,080
Ordinary sharc capital 1,100 1.000
Share premium account 900 800
Retained earnings 590 480
2.590 2,280
6% Loan notes iv 1,200 800

13.

3,290 —3.080
Notes:
(i) The net cash generated from operating activities for the year is $746,000, before deducting
interest paid on the loan notes.
(ii) During the vear the company sold non-current assets which had cost $480,000 for $280.000.
(iii)The net current asset figures include cash at bank:

a. 31 March 2016 $14.000 ST.ﬂ.U?SIUS COLLEGE LIBRARY
b. 31 March 2017 $18.000 ANGALORE-575003

All other movements in net current assets have already been allowed for in calculating the
net cash inflow from operating activities given in Note 1 above. Dividends paid, when
calculated. should be included in financing activities.

(iv)The loan note issuc during the year took place on 1 April 2016, and all interest for the year
ended 31 March 2017 was paid in the year.

(v) Profit for the year ended 31 March 2017 before allowing for dividends paid was $260,000.

(vi)lgnore taxation,

Required:

(a) Prepare the company’s statement of cash flows for the year ended 31 March 2017,

beginning with the net cash inflow from operating activitics given in Note (i) above,

Set out below are the drafi statements of profit or loss of P and its subsidiary S for the ycar ended
31 December 2017. On 1 January 2016 P purchased 80% of the ordinary shares in S.

P S

5000 5000
Revenue 300 150
Cost of sales (180) {70)
Gross profit 120 80
Operating expenses 47 {23)
Profit from operations 73 57
Finance costs _ - (2
Profit before taxation 73 55
Tax (25) 16

48 39

Profit for the year

During the year S sold goods to P for $20,000, making a mark-up of one third. Only 20% of

these goods had been sold before the end of the year, the remainder is still in inventory.

Required:

Prepare the consolidated statement of profit or loss for the year ended 31 December 2017,
Contd...4
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Scction-C

Answer any
Ml ee, carrying 16 marks each.

two questiong out of thy (2x16=32)

14. Scimitar proves the dccuracy
September the lh!lowing bal
dccounts apreeq:

= - counts. Al g
of its ledgers by preparing monthly ‘-‘"“mlll'tu |I:]1 ull ;

+ » s COr ]
ances existed in the company’s accounting records, and the contr¢

Debit Crodil

$ $
Accounts receivable ledger totals 188,360 2,140
Accounts payable ledger totals 120 89,410

The lhno“’il!g are the totals of transactions which took place during September, as
extracted from the company’s records:

$
Credit sales 101,260
Credit purchases 68,420
Sales returns 9,160
Purchases returns 4,280
Cash recejved from customers 91,270
Cash paid 10 suppliers 71,840
Cash discounts allowed 1,430
Cash discounts received 830
Irrecoverable debts written off’ 460
Refunds to customers 300
Contra settlements 480
At 30 September the balances in the ledgers, as extracted, totaled:
Debit Credit
$ $
Accounts receivable ledger balances To be ascertained 2,680

Accounts payable led ger balances 90 To be ascertained

An initial attempt to balance the two ledgers showed that neither of them agreed with

their control accounts. The differences were found to be due to the following:

() A credit balance of $680 had been omitted
ledger balances:

(i) A contra setilement of $500 had not been i
prepared for the control accounts;

(i) A new employee had mistakenly entered five sales invoices into the purchases day
book as if they had been purchase invoices and entered the amounts to new accounts
payable ledger accounts. The total of these invoices was §] ,360;

(iv) A $20 cash refund to a customer was made that has not bee
of transactions given above. The $20 was entered to the accounts receivable ledger as

if it had been a cash receipt from the customer, This resulteq ina $40 credit balance
on the account, which was still outstanding at 30 September.,

When these errors had been corrected both contro] accounts agreed w
Required:

Prepare the accounts receivable ledger and accounts payable ledger contro] (total) accounts for
the month of September AFTER these errors had been corrected, and hepge ascertain the misging
totals of the ledger balances as indicated above (debit balances iy accounts receivable Jeg 5
credit balances in accounts payable ledger). dgeran

when listing the accounts receivable

ncluded in the totals of transactions

n included in the summary

ith the Personal ledgers,

Contd...5
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I5. You are given summarized results of Solo, an electrical engineering business, as follows:
Statements of profit or loss
Year ended 31 December

ST.ALO¥SIUS COLLEGE LIBRARY 2016 2015
MANGALORE-575003 000 $000
Revenue 60,000 50,000
Cost of sales 42,000 34,000
Gross profit 18,000 16,000
Distribution and administration expenses 15,500 15,000
2,500 3,000
Finance costs 2,200 1,300
Profit before tax 300 1,700
Income tax expense 350 600
(Loss)/profit after tax : __(50) _1.100

Statements of financial position

31 December2016___ | 31 December 2015
$000 $000 $000 | S000
Non-current assets
" Property, plant and equipment 12,000 11,000
Intangible 500 12,500 - 11,000
Current assets
Inventories 14,000 13,000
Trade receivables 16,000 15,000
Cash 500 30.500 500 28.500
43,000 39.500
Fquity
Issued capital 1,900 1,900
Share premium 3,300 3,300
Revaluation surplus 2,000 2,000
Retained earnings 6,750 13,950 8.400 14,600
Non-current liabilities
Interest-bearing borrowings 6,000 5,500
Current liabilitics
Trade payables 23.500 19.400
43,000 39,500

Required:
Caleulate the following ratios for both years
(i) Current ratio OR quick ratio
(i)  Inventory turnover (days)
(i)  Reccivables turnover (days)
(iv)  Payables turnover (days)
(v)  Gross profit % OR net profit % (before taxation)
(vi)  Return on equity (ROE)
(vii)  Return on capital employed (ROCE)

(vili)  Gearing (debt to equity).
Contd...6
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: » business of Maria for the year ended 37 1
16. The following information relates to the business of Maria y 31 Uec‘-‘mber
2016:

$ %

Capital account, 1 January 2016 13,640
Freehold properties at cost 7,500
Furniture and fittings at cost 2,000
Motor cars at cost 6,300
Accumulated depreciation to 1 January 2016

On Frechold properties 430

On Furniture and fittings 800

On Motor cars 2,370
Inventory 1 January 2016 6,740
Purchases 54,520
Sales 79,060
Salaries 8,760
Rent 1,170
Office expenses 3,950
Motor expenses 3,790
Drawings 4,800
Loss allowance for receivables 1 January 2016 600
Loan 4,000
Trade receivables 9,240
Trade payables 10,040
Bank balance 2,190

110,960 110,960

You are also supplied with the following information:
(a) Inventory at 31 December 2016 was $7.330.
(b) Rent paid in advance at 31 December 2016 amounted to $250.
(c) Loss allowance for trade receivables ist
31 December 2016,
(d) Depreciation is 1o be charged for the
at the year-end:
Freehold properties 1%
Furniture and fittings 10%
Motor cars 20%
(c) Interest on the loan at 5% per annum is to
Required:
Prepare a statement of profit or loss for the year en,
ﬁna:cia] position at that date, ’ R December 2016 e

0 be made equal to 5% of accounts receivable at

year at the following annual rates calculated on cost

be provided.

Section-D
Answer the following (Compulsory)
(1x10=10)
17. Explain the information needs of internal ang external yg

i e1s of financija] statements.

el
- ————sss ...
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Answer the following! (Compuleory)

V7, Wilte a note ony Consurned surplus
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St Aloysius College (Autonomous)
Mangaluru
B.Com. Semester I- Degree Examination
October- 2019

BUSINESS STATISTICS

Time: 3 hrs. Max Marks: 100

SECTION-A
Answer any FIVE of the following. (5x2=10)
Define statistics in Plural sense.

What is meant by central tendency?

Mention the properties of coefficient of variation.

What are the properties of regression coefficients?
A deposit of ¥1, 000 grows at the rates of 8%, 10% and 11% in three subsequent

years. Find the average growth rate.
6. What is meant by Secular trend of a Time Series?
7. Mention the uses of Consumer Price Index Numbers.

SECTION-B

Answer any FOUR of the following.
8. Explain the functions and limitations of statistics
What are Consumer Price Index Numbers? Explain the steps in the construction of

Lo W

(4x12=48)

Consumer Price Index Numbers.
Calculate Median and Mode and Harmonic mean of the following data

10.
[ Class Intervals Frequency ST.ALOTSIUS COLLEGE LIRRAKY
150-175 2 MANGALORE-575003
175-200 10
200-225 15 ]
225-250 18
250-275 27
275-300 12
300-325 5
325-350 8
11. a) Compute the Cost of Living Index Number by Aggregative Expenditure Method.
(8
B di Base Year Current
Commadity Price (}) | Expenditure (X) Year Price (X)
Rice 200 1000 900
Sugar 300 300 1500
Soap 15 45 30
Kerosene 140 140 420
ent 50 600 300
Misc 50 600 400
b) Calculate Geometric Mean of the following data @)
Age in years No. of persons
15-24 10
e
25-34 28
35-44 30
45-54 10
55-64 12 ]
65-74 10
Contd...2
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12. a) For the following time series, obtain central 4 yearly moving

——

Year Annual Sales
_ (In thousands_)___ﬁ
'''' 2004 63
2005 80
2006 90|
2007 72
2008 66
2009 85 |
2010 100
2011 78 |
2012 72
2013 93

. : ing data 4
a) Find out Karl Pearson’s Coefficient of Correlation of the following € (4)

Y
20
14
12
10
9
7

=
N\D‘dc\mwx

13. From the data given below find out the two regression equations.

And also calculate correlation coefficient

Age of Husband Age of Wife
(years) (years)

22 18

23 20

23 21

24 20 |

26 21

27 22

27 23

29 24

30 25

30 26
SECTION - C

Answer any TWO of the following. (2x16=32)

14. Calculate the coefficient of correlation and probable error between expenditure on

advertisement (x) and sales of a product (y).

Y (RIn Lakhs) X ('0003)
50-60 | 60-70 | 70-80 | 80-90 | 90-100 |
10-12 8 3 —=—-50:90 | 90-100 |
12-14 2 10 3 “""‘-——--—___"__,
16-18 - : 6 | 10 T
18-20 - B [:::::::-___ﬁﬁ___;1___
: 3 =

Contd...3
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15. The following data gives the distribution of wages in two branches of an Industrial

concern
Daily wage (?) No. of workers
Branch A Branch B
100-150 167 63
150-200 207 ; 93
200-250 253 157
250-300 205 105
300-350 168 82

Find out 1. Which branch pays higher average wage per day?

2. Which branch has greater variability in wage payment?

16. a) Calculate

1. Laspeyre’s Index Number

2. Pasche’s Index Number

3. Fisher's Index Number

ST.ALOTSIVS COLLEGE LIBRARY
MANGALORE-575003

Price (X per quintal) Quantity sold (quintals)

Base year Current year | Baseyear | Currentyear
Rice 400 850 100 120
Wheat 320 690 20 60
Sugar 720 1600 10 10
Dhal 720 2100 10 20

b) From the following information relating to workers of an industrial town

calculate consumer price index number

Answer the following:

Item of consumption Price Index Percentage
Expenditure
Food 200 50
Clothing 175 10
Fuel 160 12
Housing 225 15
Miscellaneous 150 13
SECTION-D

(10)

(6)

(10)

17. Fitastraight line trend for the following data and estimate the production for 2019

Year Production
(tons)
2012 77
2013 88
2014 94
2015 95
2016 91
2017 98
2018 90
*dpdhk

ﬁi:iﬂ:;‘ e Wi ;.
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St Aloysius College (Autonomous)

Mangaluru
B.Com. Semester I- Degree Examination
October- 2019
PRINCIPLES OF MANAGEMENT

Time: 3 hrs. Max Marks: 100

SECTION - A
Answer any FIVE of the following. (5x2=10)
List the benefits of direction.
Distinguish between Administration and Management.
State the Qualities of good Manager.
What is scalar principle?
List the essential elements of Delegation.
What is planning?
What is MBO?

ol o

SECTION - B
Answer any FOUR of the following. (4x12=48)

8. Briefly explain the features of management.
9. Explain different roles played by a manager at various levels of Management.

10. Explain the merits and demerits of line and staff organization.

1. Explain the principles of direction.  §T.ALUTSIUS COLLEGE LIBRARY
ALOKE-"?bOOJ
12. Discuss the various control techniques. MANG 2

13. Explain Japanese and US management practices.
SECTION - C
Answer any TWO of the following. (2x16=32)
14. Define staffing. Explain the steps involved in staffing.

15. Explain the different types of plans.
16. Explain the principles of organizing.

SECTION - D

Answer the following: (Compulsory) (10)

17. As a manager, suggest the measures to make delegation of authority more

effective and result oriented.
o ok ok ok ok ok ok ok
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B.Com, Semester I- Degree Examination
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ORGANISATIONAL BEHAVIOUR

Time: 3 hrs, Max Marks: 100

SECTION - A
Answer any Five of the foilowing, (Sx2=10)
What do yoy Mean by Autocratic Model?

What are the hygiene factors specified in Herzberg’s theory?

State any two differences between leaders and managers.
Define Groy i S DD

: p derar_mcs. ST.ALOYSIUS COLLEGE LisRARY
What is Team Building? MANGALORE-575003
What is Attitude?

Give the meaning of ‘Stress’,

Nome wy e

SECTION - B
Answer any FOUR of the following. (4x12=48)
8. Write a note on Hawthorne experiments.

Why is organisational change often resisted by individuals and groups within
the organisation? How can such resistance be prevented?

10. Define Perception. What are the factors influencing Perception?

11. State the reasons for group formation. Which of these reasons are more
influential in forming groups and why?

12. What js Personality? Explain the factors influencing development of

personality.
13. Explain Vroom's Theory. How does this theory relate to work motivation?
SECTION - C
Answer any TWO of the following. (2x16=32)

14. Define organisational Behaviour. Explain the Human Resource, Contingency,
Productivity and Systems Approach to Organisational Behaviour,

15. What are Conflicts? What are the sources and causes of organizational
conflict? How can they be reduced in organisation?

16. Define Leadership. Explain Likert's style of Leadership and Entrepreneurship
leadership style.

SECTION - D
Answer the following: (Compulsory) (10)

17. As a Manager, how will you identify, manage and prevent the stress of
individuals working in the organisation? Explain.

ook ok ko
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ENGLISH
Time: 3 hrs, ST.ALOTSIUS COLLEGE LIBRARY Max Marks: 100
N\HNQ%&#_—i;’ﬁUOJ
(Introduction to Communication)

A. Answer any Two following questions in about 200-250 words:
(10x2=20)

1. Describe in detail various channels of communication.
2. What is communication? Write a brief note on technical communication.
3. Mention some of the barriers for effective communication.

B. Read the following passage and answer the question below.
(10x1=10)
Now this is a subject on which I flatter myself 1 Really am ‘au fair'. The
gentleman who, when I was young, bathed me at wisdom’s font for nine
guineas, a term-no-extras-used to say he never knew a boy could do less
work in more time; and I remember my poor grandmother once incidentally
observing, in the course of an instruction upon the use of the Prayerbook,
that it was highly improbable that I should ever do much that I ought not to
do, but that she felt convinced beyond a doubt that I should leave undone
pretty well everything that I ought to do.
1 am afraid I have somewhat believed half the dear old lady’s prophecy.
Heaven help me. I have done a good many things that I ought not to have
done, inspite of my laziness. But I have fully confirmed the accuracy of her
judgement so far as neglecting much that I ought not to have neglected is
concerned. Idling always has been strong point. I take no credit to myself in
the matter-it is a gift. Few possess it. There are plenty of lazy people and
plenty of slow-coaches, but a genuine idler is a rarity. He is not a man who
slouches about with his hands in his pockets. On the contrary, his most
startling characteristic is that he Is always Iintensely busy. It is impossible to
enjoy idling thoroughly unless one has plenty of work to do. There is no fun
in doing nothing when you have nothing to do, Wasting time is merely an
occupation then and a most exhausting one. Idleness, like kisses, to be
sweet must be stolen,
Many years ago, when I was a young man taken very ill-1 never could see
myself that much was the matter with me, expect that I had a beastly cold.
But I suppose it was something very serious, for the doctor said that I ought
to have come to him a month before, and that if it (whatever it was) had
gone on for another week he would not have answered for the
consequences. It is an extraordinary thing, but I never knew a doctor called
into any case yet but what it transpired that another day’s delay would have
rendered cure hopeless. Our medical guide, philosopher and friend is like the
hero in a melodrama - he always comes upon the scene just, in the nick of
time. It is providence, that is what it is.

Contd...2
taken up by Arun on dishonour.

Contd...2
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G. 335.1a text means
L. The word ‘au fair’ as understood from the con
a. a student b. a teacher
C. a novice d.anEXPE¢ )
to do.
2. You can enjoy idling when you have nothing .
Yes/No. )
3. You have to learn to be a real idler. -
Yes/No,
4. When the author fell ill he thought it was serious: (1
Yes/No. )
5. The author compares the doctor to
a. a friend b. a philosopher
c. a hero in melodrama d. a guide @)
6. How did the author fulfill grandmother’s prophecy?
a. By doing what he ought not to have done
b. By not doing what he ought to do.
c. By not doing anything he ought or ought not to do.
d. By doing everything he ought or ought not to do. (1)
7. What does the author mean by saying that ‘idleness, like Kisses to be sweq
must be stolen’? (2)
8. What is the author's tone in the passage? (2)
C. Write an essay on any one of the following in about 200-250 words,
(10X1=10)
1. The growing number of over welght people has become an area of concerp
in public health. Adopting physical education lesson in the school curriculum
is a way to deal with this. To what extent do you agree or disagree.
2. Some people think that money is one of the most essential factors in
promoting happiness.
a. Do you think people can be happy without much money?
b. What other factors contribute towards happiness?
UNIT II
Sentence Types, Vocabulary and Usage
A. Choose the right one word substitutes from the options (4x1=4)
1. One who controls his emotion-(Stoic/Animus)
2. Fear of open spaces (AgoraphobIa/CIaustrophobla)
3. Inabllity to fall as!eép (Insomnia/Amble)
4. Principles of teaching (dcular{Pedagogy)
B.

Write the appropriate Suffix of the word given in the bracket:

(2x1=2)
There were only a of people at the match (hand)

He was acting in a very —— way, (Child)

Contd---a
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S ‘t::: the appropriate Prefix of the underlined word andgfill in the
1. T just can't belleve it! The story Is ___ i
2. Politician must be honest, but now a days they are
D. Choose the appropriate Idioms and Phrasgs for the underlined word.
His arrogant behavi . e
our with others has left him isolated.
I don't like his habit of not speaking Plainly.
In the end 1 had to apologize humbly for my mistake.
The company offered a big sum of money to its aged employees.
(be the humble pie, mixing matter, icing on the cake, golden hand shake,

S W N -

high a - [US COLLEGE LIBRARY
gh and dry) OT.ALOTSIUS COLLEGE LIBRARE
E. Rewrite as directed. MANGCALOKRE-S/ 5003 (4x1=4)

1. I'm clever. (Put a suitable question tag)

The tea was hot. I couldn’t drink it. (Rewrite Using SO .............. that)

3. As soon as she heard the news she fainted. (Rewrite using No sooner........
than)

4. He sells buckets. He sells jugs (Use not only........... but also)

propriate Antonym of the underlined word and fill the
(2x1=2)

avy vehicles are

F. Choose the ap

blank.
1. Only small vehicles are permitted on the bridge, but he

2. Flood caused havoc in Assam in June but now situation has become

propriate Synonym of the underlined word and fill the

G. Choose the ap
blank. (2x1=2)

_ He was known for his acrimonious behaviour. (tart, kind, mild)
2. It was the exact tone of a young baby, a naive and innocent cry. (frank,

skeptical, wise)
UNIT III

Transformation of Sentences
A. Convert the following Passage from direct into indirect (1x5=5)

Helen: Mr. West, What happened to John?

1.
Mr. West: He's left the company.
Helen: Why has he done that?
Mr. West: He asked me for a rise, but I didn’t give it to him.
Helen: Why didn’t you give him a rise?
Mr. West: Because he was lazy.
Helen: Has he found another job?
Mr. West: Yes, he is working in a film company.
Helen: What Is his salary like?
Mr. West: I think he earns quite a lot.
Mr. West: I think he earns quite @ lot.
Helen: Does he like the new job?

A WAl el ¢ ol Vo =
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from Active to Passive: (4x 1&4)

B. Convert the following sentence
1. His subordinates accused him of various offences.

2, Do not Insult the weak.

3. The teacher appointed him monitor

4. He was refused admittance.

C. Fill in the blanks with appropriate Tenses and rewrite the pazage.
X1l=4

1. One can hardly cross the threshold of the lively young SCI?nce Withoyt
—_— (Suspect) that all is not peace and harmony under its root-tree.
that the bands of workers one _—— (encounter) there, represent ny
only a necessary division of labour but a state of internal strife. Perhaps the
most assertive of warning groups I (compose) of the younge,
students of animal and comparative psychology: most of whom prige
themselves on being hard-headed and realistic and on N (have)
discarded the airy nothings of psychology that deals with minds.

D. Write a dialogue of about 15-20 sentences on any one of the
(10X1=luj

following.

1. Write a dialogue betwe
respective occupations

en soldler and a shopkeeper on the merits of their

OR

2. Write a dialogue between two friends about the bad effect of smoking.
nces and rewrite the

(5x1=5)

are many people around and

Identify the errors in the following sente

passage

1. When we reached to the rallway statlon there
all of them were rushing to the raliway station In order to catch train.
the following and rewrite the

F. Write the best-summarisation of
(2x1=2)

option.

1. Our constitutional democracy,
to fight socletal tyranny. It has

over the decades of its consolidation, has had
often been fought by the aggrieved political

class, which embracing the promise of modernity and of rights, has led
social reform movements against evils such as Sati, child marriage, dowry,
caste atrocities triple talaq, etc. From Raja Ram Mohan Roy to DR. B.R.
Ambedkar, the public. Spirited political class has fought against the tyranny
of soclety challenging values and practice that unjustly denied sections of

four people their dignity and rights.

Socletal tyranny, in existence for decades, has been fought both by the

a.
aggrieved political class and public-spirited political class.

b. Our constitutional democracy, over the decades of Its consolidation, has had
to fight societal tyranny through Its political class.

c. Over the decades, ‘tyranny that comes from soclety has been fought tooth
and nail by the aggrieved. .

d. The fight against socletal tyranny resulted In reform movements to eradicate
social evils and practices
' UNIT 1V

NOVEL
A. Answer the following question (10)(1:10)
1. ‘The purpose of Life Is a Life of Purpose’ substantlate the following statement

with reference to the novel ‘The Monk who sold His Ferrari’
ROk K R '
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St Aloysius College (Autonomous)

Mangaluru
B.Com. (Vocational) Semester I- Degree Examination
October - 2019

FUNDAMENTALS OF ACCOUNTING -I
Time: 3 hrs. Max Marks: 100
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. What is Bank Reconciliation Statement?

2. Mr. Jay draws a bill on Mr. John for ¥ 3,00,000 on 1-1-2017 for 3 months. On

4-2-2017, John got his bill discounted at 12% rate. What is the amount of
discount?

3. What do you mean by error of principle? Give an example.

4. If original cost of the asset is ¥ 13,00,000, Salvage value is ¥ 40,000 and
useful life of the asset is 6 years, what is the amount of depreciation for the

first year under sum-of-years digit method?

5. Ifaverage inventory is ¥ 12,000, closing inventory is ¥ 3,000 more than the

opening inventory, find out the value of closing inventory?
6. State with reasons whether the following are capital or revenue expenditure:

a) Expenses incurred in connection with obtaining licence for starting the

factory were ¥ 10,000. ST.ALOYSIUS Cucd ECL wlsiand
MANGALORE-575003
b) ¥ 2,000 spent as lawyer’s fee to defend a suit claiming that a firm's

factory site belonged to the plaintiff, the suit was not successful.
7. X of Kolkata sends out 2,000 boxes of Y of Delhi costing ¥ 100 each.
Consignor’s expenses ¥ 5,000. 1/10 of the boxes were lost in consignee’s
godown and treated as normal loss. 1,200 boxes were sold by consignee.

What is the value of consignment inventories?

SECTION - B
Answer any FOUR of the following. (4x12=48)

8. Arun draws a bill for ¥ 10,000 on Barun. Barun accepts it and returns it to
Arun. Arun endorses it to Charles and Charles endorses it to David. David
discounts the bill for ¥ 9,800, On the due date the bill is dishonoured and the
noting charges incurred by the bankers amounting to ¥ 200.

Pass Journal entries in the Books of all the parties. Assuming that the bill is
taken up by Arun on dishonour.

Contd...2
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G 351.1 0 Machinery for ¥ 58,200 and
9. A firm purchased on 1st January, 2002 cer's dditioﬂa! machinery costing
spent ¥ 1,800 on its erection. On 1st July, 2002 2 achinery purchased on 1st
% 20,000 was purchased. On 1 st July, 2004 the- i 4 for % 28,600 and on the
January, 2002 having become obsolete Was auwonteor? 40,000.
same date fresh machinery was purchased at @ cost December at the rate of
Depreciation was provided for annually on BISVer the firm changed this
10 per cent on written down value. In 2005, e ;hod of providing 5 per
method of providing depreciation and adopted the mMe boar
cent per annum depreciation on the original cost of the mac f h o e
Give the Machinery Account as it would stand at the end of each y m
2003 to 2005. -
10. From the following information ascertain the value of stock as on 31% March
2016 and also the profit for the year: ;
Stock as on 1.4.2015 14,250
Purchases 76,250
Manufacturing Expenses 15,000
Selling Expenses 6,050
Administrative Expenses 3,000
Financial Charges 2,150
Sales 1,24,500
At the time of valuing stock as on 31st March, 2015, a sum of ¥ 1,750 was
written off on a particular item, which was originally purchased for ¥ 50,000
and was sold during the year at ¥ 4,500. Barring the transaction relating to
this item, the gross profit earned during the year was 20% on sales.
11.

Two holders, Ajay and Vijay buy goods from one another, each allowing the
others, one month’s credit.

30, 2019 are as follows:

The transactions for three months ended June

G I i ij Goods sold Moy to At
¥ 4
Apl’il 19 24,000 Apn! 24 212
May 16 28,000 May 25 "
June 14 32,000 20,000
Calculate the date upon which the balance should b i
is due to either party. € paid SO that no intereSt

Contd...3
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12. X supplied goods on sale or return basis to customers, the particulars

which are as under,

Date of dispatch | Party's | Amount Remarks ll

name T |

{10.12.2015 M/s. ABC | 10,000 | No information till 31.12.2016 |

| 12.12.2016 M/s. DEF | 15,000 | Returned on 16.12.2016

15.12.2016 [M/s. GHI |12,000 |Goods worth 12,000 returned |

on 20.12.2016 |

20.12.2016 M/s. DEF | 16,000 | Goods Retained on 24.12.2016 |
25.12.2016 M/s. ABC | 11,000 | Good Retained on 28.12.2016
30.12.2016 M/s. GHI | 13,000 | No information till 31.12.2016

Goods are to be returned within 15 days from the dispatch, failing which it
will be treated as sales. The books of ‘X’ are closed on the 31st December,

2016.
Prepare the following accounts in the books of 'X":

(a) Goods on 'sales or return, sold and returned day books':
(b) Goods on sales or return total account. ST.ALOTSIUS COLLEGE LISHARY
MANGALORE-57 5003

What are the objectives and importance of Accounting Standards?

13.
SECTION - C
Answer any TWO of the following. (2x16=32)
14. Nandini Ltd. Bengaluru consigned 10,000 kgs of ghee costing ¥ 100 per kg to

Navmi Ltd. of Mangaluru at an invoice price of ¥ 120 per kg. Nandini Ltd.
spent ¥ 7,000 on freight and ¥ 3,000 on insurance. Five containers containing
250 kgs of ghee were destroyed in transit. The insurers settled the claim by
paying ¥ 25,000 to Nandini Ltd. Navmi Ltd. Accepted a bill for ¥ 7,00,000 as

advance payment.
Navmi Ltd. spent ¥ 2,000 as rent and ¥ 1,000 as selling expenses and

their commission is 5% on sale proceeds. They reported that 5,000 kgs of
ghee sold at ¥ 120 per kg and 3,000 kgs sold at ¥ 118 per kg. The agents
remitted a draft for the balance.

Prepare in the Books of Nandini Ltd.

1) Consignment A/c

2) Navmi Ltd. A/c
3) Goods sent on consignment A/c

4) Abnormal Loss A/c
Contd...4
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rred an account of
15. The books of Mr. Alok did not agree. The accountant transfe

¥ 296 being excess debit to a suspense account. Th€
subsequently discovered:
1. Sales book was overcast by ¥ 300

2. Purchase of furniture ¥ 615 passed through purch .
path was passed to his

following €rrors were

ases book.

3. An amount of 2 85 received from Mr. Sam
account as« 850

4. The total of purchase returns book was carried forward as % 221
instead of ¥ 112

5. A cash sale of ¥ 1,532 though duly

to sales account as ¥ 532

entered in the cash book was posted

6. Salary A/c was overcast by ¥ 200

7. A cash sale of ¥ 1,800 to Sumith was debited to his pers
the ledger.

8. A discount of ¥ 1,530/-was duly credited to Raju's account but was
omitted to be entered in the discount column in the cash book.

Pass journal entries and prepare Suspense Account.

onal account in

16. Explain briefly the widely accepted accounting concepts.

SECTION-D
Answer the following: (Compulsory) (10)

17. From the following particulars, ascertain the balance that would appear in the
Pass Book of Rohan as at June 30, 2017:

i) The bank balance as per Cash Book ¥ 20,400.

ii) During the month of June total amount of cheques for ¥ 19,400 was
deposited into bank, out of which one cheque for ¥ 3,860 had been
entered in the Pass Book on July 2, 2017,

iii) During the month, cheques for ¥ 24,930 were drawn in favour of
creditors. Of these cheques, one creditor for ¥ 6,430 enchased the
cheque on July 4, 2017 whereas another creditor for ¥ 1,720 presented
the cheques to bank on July 10, 2017,

iv) As per instructions, the bank on 26th June had paid % 5,800 to a
creditor, but the same has not been entered in the cash book.

v) According to agreement on 24th June, a debtor had directly deposited

into bank ¥ 9,000 but the same has not been recorded in

the cash
book.

vi) In the month of June the bank without any intimation had debited the

account of the business for a sum of 7 280 as bank ch and
credited the account with interest for 3 300 charges

FEERARRE R b g g
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BUSINESS ECONOMICS -I
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Answer any FIVE of the following. (5x2=10)
State the Law of Supply.
What is kinked demand curve?
Mention any two features of Oligopoly.
What is Cross Elasticity of Demand?
What is Demand Forecasting?
Define Business Cycle.
Mention any two features of Monopoly.
SECTION - B
Answer any FOUR of the following. (ER2=48)
Explain Marginal Cost and Marginal Revenue (MC-MR) approach.
9. Describe the phases of business cycles.

NG R B S

10. Explain the three kinds of Economic systems.

11. Explain the determinants of Demand.

12. Explain the different concepts of Costs
13. Write a short note on prefect competition.

SECTION - C
Answer any TWO of the following. (2x16=32)
14. Examine Law of Diminishing Marginal Utility with suitable example. Explain

the rationale and its exceptions.

15. Define business Economics and explain the scope of Business Economics.
16. Explain the factors of production.

SECTION - D
Answer the following: (Compulsory) (10)

17. Define price Elasticity of Demand and explain the different degrees/types of
Price Elasticity of Demand.
e o ok ko ok ok ok KOk
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St Aloysius College (Autonomous)

Mangaluru
B.Com. (Vocational) Semester I- Degree Examination
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BUSINESS STATISTICS AND MATHEMATICS

T 3
ime: 3 hrs, Max Marks: 100

SECTION - A
Answer any FIVE of the following.
1. Find the value of X, ST.ALOYSIUS COLLTAE LIBRARY
X?= 10X =24 =0 MANGALORE-575003
If 2, 4, 8... form a geometric progression. What is the 10th term?

(5x2=10)

Write any two uses of Index Number,
Write any two components of Time Series
Write one example for Cubic equation with one variable.

v W

6. A= 1 2 B =

Find AB.
Write the formula of coefficient of quartile deviation and quartile deviation.

SECTION - B
Answer any FOUR of the following.
a) The following table gives details of monthly expenditure of one family.
Represent the data by sub-divided Bar Diagram. (6 Marks)
Item Expenditure ()
_ Food 1400

(4x12=48)

House Rent 1200
Fuel 700
Others 1000
Savings 700

b) The following Is the distribution of age of persons visiting a Zoo on a

particular day. Find Mode. (6 Marks)
f Age Visitor
5-9 12
10-14 42
[ 45-19 61
20-24 47
25-29 21
30-34 12
[~ 35-39 4 ]
Contd...2
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9. a) The following distribution gives years of working experience of workers in a
company, calculate mean deviation from mean (6 Marks)
Years of Experience | No of Workers |
0-5 286 |
5-10 322 |
10-15 186
15-20 a2
20-25 > |
25-30 5 |
b) Compute quartile deviation from the following data (6 Marks)
Size Frequency Nk
4-8 5 |
8-12 10
12-16 R
16-20 30
20-24 15
24-28 1z |
28-32 0 |
32-36 6
36-40 2
10. a) For the following time series Calculate Trend by three yearly Moving Average
Method. (6 Marks)
Year Values
2011 18
2012 20 |
— 2013 23
2014 26
2015 20
2016 26
2017 28
2018 34
b) For the following distribution find Medlan (6 Marks)
Class interval Frequency
130-139 * 16
— 140-149 24
— 150-154 88
155-159 176
—160-164 168
—165-169 | 136
contd-+3
|
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11. a) (6 Marks)
1 0 2
IfFA=| 0 1 3
‘1 0 2 ’
Find A* + 2A - 41 where I is identity matrix. |
b) Find the matrix X such that 3A + 5B + 2X = 0. (6 Marks)
If A= 9 1 B= 1 5
4 3 7 12
12. a) The rate of monthly sélary of a person increasef annually in A.P. it was known
that he is drawing ¥ 2400 a month during the 11" year of service and ¥ 3120
during 29" year. Find his startingnsala{riwé ?‘?ﬁjﬁtrﬁrate of annual increment.
Sr-ﬂ,ELSé’UELE) 'Ii E:Si 5003 (6 Marks)
b) The sum of a series in AP is 72, the first term is 17 and the common difference
is -2. Find the number of terms and explain the double answer. (6 Marks)
13. a) Explain the issues involved in the construction of index numbers. (6 Marks)

b) If the ratio between Laspeyre’s Index number and Paasche’s Index number is
28:27. Then the missing figure in the following table P is:

Commodity Base Year Current Year
Price | Quantity | Price Quantity
X L 10 2 5
Y L 5 P 2
(6 Marks)
SECTION - C
Answer any TWO of the following. (2x16=32)
14, a) Find the Inverse of the matrix (8 Marks)
1 -1 =1
IfB=| 3 2 -4
0 1 1
b) Solve the following equation by Cramer’s rule (8 Marks)
8x -5y + 3z=11
4x+3y-81=0
2x+32+6=0
Contd...4
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15,

16.

17.

Page No,q . Il

kers of two factorieg
ay of wor
a) The following are the distribution of monthly PaY

Pay @) | Factory A _F_a_cigr_vi |
400-600 4 ____1_(3'_____~ .. |
600-800 18 #__3-_9____# 1
800-1000 25 ___12______ |

1000-1200 2 18
e : : —“E_# alary? i
(i) Which factory pays higher average S ? (10 Marig)
(ii) In which factory salary variation is more: SN |
b) Calculate mean wage of the following
Weekly wage | No of workers |
0-2000 30 |
2000-4000 70 I
4000-6000 100 | !
6000-8000 60 |
8000-10000 40 :
a) List out the properties of Arithmetic mean and standard deviation. (5 Marks)
b) Solve the linear simultaneous equation using algebraic method (5 Marks)
2x + 3y = 20
3x -y =10

c) A dietician wishes to mix two types of foods in such a way that vitamin contents
of the mixture contain at least 8 units of vitamin A and 10 units of vitamin C.
Food *X’ contains 2 units of vitamin A and 1 unit of vitamin C. Food ‘Y’ contains 1

unit of vitamin A and 2 units of vitamin C. It costs T 50 per kg to purchase

Food ‘A’ and ¥ 70 per kg to purchase Food ‘Y’. Formulate this problem and show
B

The feasible region on a graph. (6 Marks) |
SECTION -D |
Answer the following: (Compulsory) (10) |
Construct index numbers of price from the following data by applying
(i) Laspeyre’s method (ii) Paasche’s method (iii) Fisher's method
Commodity 2018 2019
Price i i i
Quant:ty Price Quantity
A Z 8 4 6
B g 10 6 g
c 4 14 5 "___1‘0“-
o |
Heok ok sk ko o o
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St Aloysius College (Autonomous)

Mangaluru -
B.Com. (Vocational) Semester I- Degree Examination
October- 2019
BUSINESS LAWS

Time: 3 hrs, Max Marks: 100
SECTION - A

Answer any FIVE of the following. (5x2=10)

What is attempted performance?

What do you mean by jus in rem and jus in personam?
What is a quasi-contract?

What is anticipatory breach?
Wwho is @ noiinal partner?

ST.ALOYSIUS COLLEGE LIZKARY
MANGALORE-575003

N o n bk wNe

State any four elements of partnership.
What is a contingent contract?
SECTION - B
Answer any FOUR of the following. (4x12=48)
Explain the modes of dissolution of partnership firm,

Explain the essential elements of valid contract.

10. Explain when the consent is not said to be free. What is the effect of such

consent on the formation of the contract?

11. Explain the implied conditions in a contract of sale.

12, Discuss the rules relating to transfer of property in case of sale of specific

goods and the sale of unascertained goods.
13. Explain the different kinds of damages under breach of contract.

SECTION - C
Answer any TWO of the following. (2x16=32)
14, Define an unpaid seller. What are his rights?
15. Define contract. Explain in detail the classification of contract,
16. Explain the essentials of a valid consideration.
SECTION - D
Answer the following: (Compulsory) (10)

17. “Parties to the contract must be competent to contract”. Explain.

ko ok o ok ok ok
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St Aloysius College (Autonomous) |
Mangaluru
B.Com/B.B.A- Semester | - Degree Examination
October- 2019
FOUNDAT
TH 2 Fgries ION COURSE IN INDIAN CONSTITUTION AND VALUE EDUCATION
Max. Marks: 50

PART - A
INDIAN CONSTITUTION
gin one sentence each, (1x5=5)
What do you mean by constitution?

Answer the followin

When was the Constituent Assembly established?
Who was the chairman of the draftin
Which Article of |
Policy?

5. Whatd ST.ALOYSIUS COLLEGT LISRARY
0 you mean by Preamble? MANGALOKE-575003

Il Answer any ONE of the following in 8-10 sentences each | (5x1=5)

g committee of constituent Assembly?

= M e

ndian constitution enumerates Directive Principles of State

6. Write a note on Right to Equality.

During a Riot, Ram was detained by the police authorities under a Preventive
Detention Jaw of the state, on the ground as a ‘dangerous person’ within the
ambit of law. He was harashed by the police authorities in custody and the
family members of the Ram were kept in dark about the condition of Ram and
further he was not produced before the court within the time stipulated by law
and police never booked a charge sheet against the accused.
a) Explain how you can help Ram.
b) What remedy is available in the Indian constitution to Ram’s family
members?
¢) Do you think person arrested under preventive detention can claim this
writ?
III. Answer any ONE of the following in 15-20 sentences each. (10x1=10)

8. Examine the functions of Prime Minister in India.

9. Write a note on Speaker of Lok Sabha.
IV. Answer any ONE of the following in 30-35 sentences each. (15x1=15)
10. Explain composition and powers of Supreme Court of India.
11. Write a note on SEBI and TRAI

PART - B
VALUE EDUCATION

I. Answer any ONE of the following in not less than a page. (5x1=5)

12. Explain the vision and mission of St Aloysius College.

13. Write a note on thought power.
[I. Answer any ONE of the following in notless than two pages.  (10x1=10)

15. Explain SWOC Analysis.
6. “Good decision making is an essential skill for success in general and an
16. “Goo

ip skill in particular”- Explain.
effective leadership skill in p riieutar - BAD)
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